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Cuesticon Label | Comprehiension



The following table presents the data on the number of vehicles of three different types (A, B
and C) produced by a company during seven different years from 2012 to 2018. Based on the
data in the table, answer the questions 1- 5 :

Year — wise production of three types of vehicles

Vehic
Yﬁar A-Type | B-Type | C - Type
2012 5000 20000 15000
2013 15,000 10000 22500
2014 10,000 15000 30000
2015 17,500 15000 23000
2016 25,000 20,000 15000
2017 13,000 25,000 20000
2018 30,000 35,000 25000
Sub questions

Question Number : 1 Question Id : 61547511056 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The following table presents the data on the number of vehicles of three different tvpes (A. B
and C) produced by a company during seven different vears from 2012 to 2018, Based on the
data 1n the table. answer the gquestions 1- 5 :

Year — wise production of three tvpes of vehicles

Vehicle
Year A - Tvpe B - Type C - Type
v
2012 2000 20000 15000
2013 15.000 10000 22500
2014 10.000 15000 30000
2015 17.500 15000 23000
2016 25.000 20.000 15000
2017 13.000 25.000 20000
2018 30.000 35.000 25000

Options:

61547543101, 1
61547543102 2
61547542102 2
E1547542104 4

Question Number : 2 Question Id : 61547511057 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The number of A — type vehicles produced in the year 2014 was what percent (%) of the
number of C-type vehicles produced in the year 2016?

(1) ~ 33.33 % (2) ~66.67%
(3) 50 % 4 15%
Options:

£1547543105. 1
61547543106, 2
61547543107, 3
61547543108, 4

Question Number : 3 Question Id : 61547511058 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In how many years was the production of A — type vehicles less than its average production
over the given years?

(1) 2 2 4
(3) 3 4 1
Options:

615475431091
61547543110, 2
E1547543111. 3
E1547543112. 4

Question Number : 4 Question Id : 61547511059 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What was the average number of B — type vehicles produced by the company over the years?

(1) 20000 (2) 25000
(3) 15000 (4) 30000
Options:

515475431121
61547543114, 2
61547543115 3
61547543116 4

Question Number : 5 Question Id : 61547511060 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In which of the following years was the total production of all the three types of
vehicles 600007

(1) 2013 (2) 2014
(3) 2015 (4) 2016
Options:

615475431171
61547543118, 2
61547543119, 3



B1547543120. 4

Question Id : 61547511055 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (1to5)
Cesticn Label | Comprehiension
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2012 5000 20000 15000
2013 15,000 10000 22500
2014 10,000 15000 20000
2015 17,500 15000 23000
2016 25,000 20,000 15000
2017 13,000 25,000 20000
2018 30,000 35,000 25000

Sub questions

Question Number : 1 Question Id : 61547511056 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

a9 2016 & 2017 T B 1T = FTEAT 6 IcAMEA | Tohad Fiqerm = 35 g3 7

1  10% 2) 5%
3) 20% 4) 25%
Options:

51547543101, 1
61547543102 2
61547543102, 3
E1547543104. 4

Question Number : 2 Question Id : 61547511057 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) ~ 33.33 % (2) ~66.67%
(3) 50 % 4 15%

Options:



£1547543105. 1
61547543106, 2
61547543107, 3
61547543108, 4

Question Number : 3 Question Id : 61547511058 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(1) 2 2) 4
(3) 3 4 1
Options:

515475431091
61547543110, 2
61547543111, 2
6154754311Z2. 4

Question Number : 4 Question Id : 61547511059 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

o ™9 391 § =1 20 SeTed B TET STEA oAl ST T 349 o917

(1) 20000 (2) 25000
(3) 15000 (4) 30000
Options:

615475431121
61547543114, 2
E1547542115. 3
E1547543116. 4

Question Number : 5 Question Id : 61547511060 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

frtaraa 3 ¥ 779 99 941 ToE % JTE1 6 Fe 3e7e 60000 977

(1) 2013 (2) 2014
(3) 2015 (4) 2016
Options:

61547543117, 1
61547543118, 2
E15475431143. 3
61547543120, 4



Sub-Section Number: 2
Sub-Section I1d: 615475479
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 61547511061 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

By selling 70 pencils for Rs.90/- a person makes a loss of 25%. How many pencils should be

sold for Rs.234 to have a profit of 30%?

(1) 95 (2) 100

(3) 105 (4) 110
Options:
51547543121,
E1547543122
BE1547543125
61547543124

o LI

Question Number : 6 Question Id : 61547511061 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
TF FEFd 70 GEe w1 90 T § 59 L 25% B 3210 2 | 30% HATH FAM F o0 234 T § TR
S s f_' 7

(1) 95 (2) 100
(3) 105 4 110
Options:

E1547543121. 1
B1547543122 2
61547543123, 3
61547543124, 4

Question Number : 7 Question Id : 61547511062 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In what ratio must a vendor mix two varieties of sugar worth Rs.60 per kg and Rs.78 per kg
so that by selling the mixture at Rs.76.8 per kg, the vendor gains 20%?

(1) iy (2) TF:2
(3) 5:3 (1) bH:2
Options:

615475431251
E1547543126. 2
E1547543127. 3
B1547543128. 4

Question Number : 7 Question Id : 61547511062 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 Wrong Marks: 0
U foshd @1 60 9 Uid BRI, HR 78 ¥ uid a0, gom # = f @1 T Tee o e g |
e 2 it = 3= fagmn 1 76.80 ¥ it @ F ¥ HW 20% @Y AfAT W FH?

(1) 154 2y T:2
(3) 5z 1) 92
Options:

515475431251
61547543126, 2
61547543127, 3
615475431258, 4

Question Number : 8 Question Id : 61547511063 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which given of the following sets of letters when sequentially placed at the zaps in the letter
series below shall complete 1t?

bb b ab chba bebb

(1) achac (2) acbbb
(3) cbhbhba (4) abbbe
Options:

E1547543129. 1
61547543120, 2
61547543121, 3
61547543132 4

Question Number : 8 Question Id : 61547511063 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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bb b ab cbba  bebb

(1) achac (2) achbbb
(3) chbba (4 abbbe
Options:

615475431291
61547543130, 2
E1547543121. 3
E1547543132. 4

Question Number : 9 Question |d : 61547511064 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Qut of a total of 10 students, the average weight of 9 students is 60 kg. If the weight of the
10t student is 9 kg more than the average weight of all the 10 students, then the weight of
the 10t student would be :

(1) 61k (2) 69ke.
(3)  70ke. 4) Tlks.
Options:

615475431352 1
E1547543124. 2
E1547543135. 3
51547543136, 4

Question Number : 9 Question Id : 61547511064 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
et 10 fammie= 8 & 9 faeniaen =1 sit|a a== 60 . 2 | 3tz 10 9 faenefi = o= =t 10 faentar= =
HEE F99 | O BT, wiaw 2, a1 109 Tl #1 =91 =

(1) 61 .. (2) 69 THm.
(3) 70 T . (4) T1tEm.
Options:

515475431331
61547543124, 2
61547543135 3
61547543136 4

Question Number : 10 Question Id : 61547511065 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following was not a Millennium Development Goal (MDG)?

(1) Eradicate extreme poverty and hunger
(2) Improve maternal health
(3) Ensure healthy lives and promote well being for all at all ages
(4) Ensure environmental sustainability
Options:

61547543137, 1
E1547543138. 2
51547543139, 3
61547543140, 4

Question Number : 10 Question Id : 61547511065 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

61547543137, 1
61547542138 2
61547543139 2
61547543140 4

Question Number : 11 Question Id : 61547511066 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Choose the person who has control over self, mode of communication and method of delivery
in class room from the following :

(1) Student (2) Teacher
(3) Audience (4) Visitor
Options:

E1547543141. 1
61547543142 2
61547543143 3
61547543144, 4

Question Number : 11 Question Id : 61547511066 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Fefaigs ¥ 8 9 =i w gH Ao wan d =, T @t R aiveatE Tee = F i W
foeram = 2

1 =™ (2) e
(3) & (4) wATTTE (T
Options:

E1547543141. 1
61547543142 2
51547543143 3
61547543144, 4

Question Number : 12 Question Id : 61547511067 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Select the period in which India became a centre of higher learning.

(1) Gupta Period (2) Buddha Period
(3) Mughal Period (4) British Period
Options:

615475431451
E154754314E. 2
E1547543147. 3
51547543148, 4

Question Number : 12 Question Id : 61547511067 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) T F= (2) Fg-FEA
(3)  HTSA FHA (4) oS =
Options:

615475431451
61547543148, 2
E1547543147. 3
B1547543148. 4

Question Number : 13 Question Id : 61547511068 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following groups has the components of paralanguage communication?

(1) Voice, Emphasis and Impression
(2) Social Space, Voice and Impression
(3) Voice, Social Space and Expression

(4) Emphasis, Social Space and Voice

Options:

61547543149, 1
61547542150 2
61547542151, 5
61547542152 4

Question Number : 13 Question Id : 61547511068 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



ffaied & 5 e 99z o 99 et (T SES) T F TeE B 7
(1) T, 99 J1 I9E

(2)  HEISS TgH, T AT T99

(3) T, | TIH 3R AY=aF

(4)  §, HHEISNS TH T =1

Options:

61547543149, 1
61547542150 2
£1547542151. =2
61547542152 4

Question Number : 14 Question Id : 61547511069 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

How many National Parks and Wildlife Sancturies were there in India till March 20117

(1) 8 and 421 only (2) 10 and 75 only
(3) 75 and 421 only (4) 102 and 515 only
Options:

E1547543153. 1
51547543154, 2
51547543155 3
61547543156, 4

Question Number : 14 Question Id : 61547511069 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Wi H 919 2011 T Fhad TP S8H 3R 97 919 A¥IR0T 47

(1) I« 8 3 421 (2) =« 10 #R 75
(3)  FE 75 M 421 (4) @ 102 3R 515
Options:

61547543152 1
E1547543154. 2
£1547543155. 3
51547543156, 4



Question Number : 15 Question Id : 61547511070 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following 1z =signified by Udsharana of Anumiana (Inference) in

Indian Logic?

(1) Statement of reason

(2) Proposition to be proved

(3) Conclusion proved

(4) Universal proposition along with an instance
Options:

61547543157, 1
61547543158, 2
E154754215%9. 3
51547543160, 4

Question Number : 15 Question Id : 61547511070 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1)  =FTTOT 1 HeA
(2)  Tfgerta = fog w0
(3) TRy mTfoE

(4)  IETEIVT % 1Y GrEYE qiqey
Options:
61547543157 1
E1547542158. 2
E1547543159 3
61547543160 4

Question Number : 16 Question Id : 61547511071 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Devdatta 1z fat and he does not eat during the day. Therefore. Devadatta 1s eating during

the mght.

The above example. in clazsical Indian School of Logic. 1= a case of ;

(1) Comparison (2) Implication
(3) Perception {4y Verbal Testimony
Options:

E1547543161. 1
E1547543162. 2
B1547543163. 3
61547543164, 4

Question Number : 16 Question Id : 61547511071 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(1)  qom (2) TfEard

(3)  TFUWON (4) ST =1°g
Options:
61547543161, 1
61547543162, 2
61547543163, 3
61547543164, 4

Question Number : 17 Question Id : 61547511072 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

As per the classical square of opposition, if ‘A’ proposition is given as true, then which one
of the following is correct?

(1) “E” proposition 1s false, “I” proposition is true and “O” proposition is false

(2) “E” proposition 1s true, “I” proposition is true and “O” proposition is true

(3) “E” proposition 1g false, “I” proposition is false and “O” proposition is true

(4) “E” proposition 1is true, “I” proposition is false and “O” proposition is false
Options:

B1547543165. 1
61547543166, 2
61547543167, 3



E1547543168. 4

Question Number : 17 Question Id : 61547511072 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)  “E’ ahamd TTerd &, I aohdamed T8l & 3R “0” Teharad 7o 2
(2)  “E’ ThamE w8 8, “T° ahared ¥El 2 3R “O” Thaed 98l 8

(3)  “E’ Thamd e 8, “T° TehaTE Ted 8 3TN “O” a9 T8l B
(4)  “E’ Thaed @El 8, “I7 ahaed Ted & AR “O” ThaEd Ted 8

Options:

51547543165, 1
61547543166 2
61547543167, 2
1547542168 4

Question Number : 18 Question Id : 61547511073 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following propositions is a contrary to “All poets are dreamers”?

(1) Some poets are dreamers (2) Some poets are not dreamers
(3) No poets are dreamers (4) No dreamers are poets
Options:

515475431651
61547543170, 2
61547543171, 3
E1547543172. 4

Question Number : 18 Question Id : 61547511073 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

frefafas # & FR-1 ghama mft wfa e aa 2 # farta 2

(1)  F% FE =L BN &l (2) TS A EAEE AE A R |
(3) FE W Fig S0 95 BGT £ | (4) T Mt THEET F AE BT 2
Options:

61547543169 1
61547543170, 2
E1547543171. 3
B1547543172. 4

Question Number : 19 Question Id : 61547511074 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which among the following is NOT a component of effective teaching?
(1) Questioning to check for the understanding of students

(2) Providing students with feedback

(3) Being flexible about how long it takes to learn

(4) Reactive mode of student’s behaviour

Options:

61547543173, 1
61547542174 2
61547543175 2
61547543176, 4

Question Number : 19 Question Id : 61547511074 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

TfoIrgd | 8 FH-91 I9TST 1016707 =7 51 981 & 7

(1) Sl H TR 6 F= F o q9T I8
(2)  BEI = AL IUHE FIH]

(3)  HiEE § = ST AIEE % g1 § A
(4)  BET F FTEER T TARATCHERA
Options:

515475431731
61547543174, 2
61547543175 3
E154754317E6. 4

Question Number : 20 Question Id : 61547511075 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which among the following factors doesn’t contribute to assessment bias?

(1) When language of the test and the tester is different from the languages of the

students

(2) Answers that support middle — class values

(3) If assessment procedures are flexible and diverse to make disadvantaged students
comfortable

(4) Objective test for assessing abstract reasoning of the student.

Options:
61547543177, 1
61547543178 2



E1547543173. 3
61547543180, 4

Question Number : 20 Question Id : 61547511075 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547543177, 1
61547543178 2
615475431793 2
615475421380 4

Question Number : 21 Question Id : 61547511076 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which among the following 1s NOT related to qualitative research?

(1) Thematic analysis (2) Case study
(3) Discourse analysis (4) Survey method
Options:

61547543181, 1
61547543182 2
E1547543183. 3
E1547543184. 4

Question Number : 21 Question Id : 61547511076 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)  T=RomcH TaTeao (2) =i AT
(3)  Wifaq fovemm (4) Hag fafy

Options:
61547543181, 1
61547543182 2

61547543183, 3



E1547543184. 4

Question Number : 22 Question Id : 61547511077 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In Social Sciences, a central issue is the question of whether the social world can be studied
using the methods of natural sciences. This statement refers to the i1ssue of :

(1) Ontology (2) Axiology
(3) Epistemology (4) Etymology
Options:

615475431851
61547543186, 2
E1547543187. 3
E15475423188. 4

Question Number : 22 Question Id : 61547511077 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) =TT (2) ToF HEE
(3)  STHmEET (4) oIl
Options:

51547543185 1
61547543186, 2
61547543187, 3
61547543188, 4

Question Number : 23 Question Id : 61547511078 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which among the following is not the outcome of grounded theory research?

(1) Concepts (2) Narrative
(3) Categories (4) Hypotheses
Options:

£1547543159. 1
E15475431380. 2
E15475431391. 3
515475431382, 4

Question Number : 23 Question Id : 61547511078 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) ALY (2) &HATEA
(3)  omm (4) TR
Options:

515475431859, 1
61547543130, 2
615475421391, 3
E15475431392. 4

Question Number : 24 Question Id : 61547511079 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Identify the factors that do not contribute to the effectiveness of teaching from the options
given below :
(a) Socio — economic background of Teacher
(b) Teacher’s skill in pleasing the students
(c) Teacher’s subject knowledge

(d) Teacher’s personal contact with students

Choose the correct option :

(1)  (a), (c) and (d)
(2) (b), (¢) and (d)
(3)  (a), (b) and (c)
(4) (a), (b) and (d)

Options:

51547543193, 1
61547543194 2
615475421395 2
61547542196, 4

Question Number : 24 Question Id : 61547511079 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

615475431392 1
E15475431394. 2
B15475431395. 3
51547543196, 4

Question Number : 25 Question Id : 61547511080 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Select the alternative features from the following, which make open universities as

w

non-traditional universities :

(a) Innovative method of teaching and learning
(b) Innovative method of admission, curriculum and evaluation
(c) Modern communication techniques

(d) Teacher’s friendly approaches

Select the correct option :

(1) (b), (c) and (d) only
(2)  (a), (b) and (c) only
(3)  (a), (¢) and (d) only
4)  (a), (b) and (d) only

Options:
61547543197, 1



E1547543198. 2
61547543195, 3
61547543200, 4

Question Number : 25 Question Id : 61547511080 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(3) A (a), (c) IW (d) (4) =ad (a), (b) FR (d)
Options:

E15475431597. 1
E1547543198. 2
51547543199, 3
61547543200, 4

Question Number : 26 Question Id : 61547511081 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Regarding E-governance. which of the following statements 1s / are correct?

(a) Decreasing transparency 1s an ICT enabled advantage of E-Governance.

{h) E-governance 1s related to the implementation of ICT in the government processes and
functions.

(c) Common Service Centres (CSCs) help 1n providing and using E-Governance related
services.

Choose the correct option :

(1) {a). (b). and (c)
(2) (b) and (c) only
(3) {(a) and (c) only

(4) (a) and (b) only
Options:
61547543201,
E1547543202.
B1547543203.
61547543204

[ N

Question Number : 26 Question Id : 61547511081 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

61547543201, 1
61547543202, 2



E1547543203. 3
51547543204, 4

Question Number : 27 Question Id : 61547511082 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following statements 1s / are correct?

{a) Software 1z loaded Intc secondarv storage from RAM and 13 then executed by

the CPU.

(b) A search engine 1= a software system that 1= designed to search for information on

the www.

Choose the correct option :

(1) (a) only
(2) (b) only
(3) Both (a) and (b)

(4) Neither (a) nor (b)
Options:
615475432051
61547543206, 2
61547543207, 3
61547543208, 4

Question Number : 27 Question Id : 61547511082 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547543205, 1
61547543206 2
61547543207 2
61547542208, 4

Question Number : 28 Question Id : 61547511083 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Given below is a question followed by three statements. Identify the statements that are

necessary to answer the question.

Question : What is the percentage profit gained by a vendor when he gells an article?

Statements :
(a) He gives a 10% discount on the marked price.
(b) He would have earned 25% profit if he did not give any discount.

(c) The cost price of the article 15 Rs.8000.

Choose the correct option from those given below :

(1) (a) and (b) only
(2) (b) and (c) only
(3) (a) and (c) only

(4) (a), (b) and (c)
Options:
61547543209, 1
61547543210 2
61547543211, 2
61547543212 4

Question Number : 28 Question Id : 61547511083 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547543209, 1
61547543210, 2
61547543211, 3
E1547543212. 4

Question Number : 29 Question Id : 61547511084 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following statements are true about a fuel cell?

(a) It is a device that uses electrochemical reactions to produce electric current
(b) It consists of a positive electrode and a negative electrode separated by an electrolyte
(c) Just like batteries it needs to be recharged with an electric current

Choose the correct option from those given below :

(1) (a) and (b) only
(2) (b) and (c) only
(3) (a) and (c) only

(4)  (a), (b) and (c)

Options:
615475432131
61547543214 2



E1547543215. 3
61547543216, 4

Question Number : 29 Question Id : 61547511084 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
615475432131
61547543214 2
61547542215 =
61547543216, 4

Question Number : 30 Question Id : 61547511085 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Consider the following statements with reference to the proposition "Some gzirls are not
students”

(a) Subject term students 1s distributed

(b) Predicate term girls 1s undistributed

(c) Predicate term students 12 distributed

(d) Subject term girls 1s undistributed

Choose the correct option from those given below:

(1) Only (a) and (c) are correct
(2) Only (b) and (c) are correct
(3) Only (a) and (d) are correct

(4) Only () and (d) are correct
Options:
615475432171
E1547542218. 2
£1547542219 2
61547543220 4

Question Number : 30 Question Id : 61547511085 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E1547543217. 1
61547543218, 2
61547543219, 3
61547543220, 4

Question Number : 31 Question Id : 61547511086 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Choose two factors that do NOT affect the academic performance of students adversely :

(a) Low zelf — efficacy belief
(b) Belief 1n God
(c) Indifferent attitude towards politics

(d) Teacher's low expectation from students

Choose the correct option :

(1) (a) and (b) only
(2) (b) and (e) only
(3} (¢) and (d) only

(4) (b) and (d) only

Options:

61547543221, 1
61547543222 2
61547543222 2
E1547543224 4

Question Number : 31 Question Id : 61547511086 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547543221, 1
E1547543222 2
61547543222 5
61547542224 4

Question Number : 32 Question Id : 61547511087 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the two statements from the following statements are correct?

{a) Sampling — related error 1z subsumed under the category non-sampling error

(b} Sampling error doesn't occur in multi-stage cluster samphng

{c) Inaccurate samphng frame and non-response are examples of sampling — related
E1TOT,

(d) There 1z an inverse relation between heterogeneity of population and sampling error.

Choose the correct option :

(1) (a) and (¢) only
{(2) (a) and (d) only
{(3) (b) and (d) only

(4) (b) and (c) only
Options:
£1547543225 1
61547543226, 2
61547543227 3
E1547543228. 4

Question Number : 32 Question Id : 61547511087 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547543225 1
61547543226 2
E1547543227. 2
61547542228, 4

Question Number : 33 Question Id : 61547511088 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the following historic places with their distinguishing discipline of learning

Last I List II
Hiztoric places Discipline
(a) Takshila (1)  Astronomy
(b)y Ujjain (1) Buddhism
(c) Sarnath (m) Art. Architecture and Painting
(d) Ajanta (1v) Medicine

Choose the correct option from those given below :

(1) (a)-(1). (b)-(11). (e)-(111). (d)-(1v)
(2) (a)-(11). (B)-(1). ()-(1v). (d)-(111)
(3) (a)-(111). (b)-(1v). (e)-(1). (d)-(1)
(4) (a)-(v). (b)-(1). (c)-(1). (d)-(1m1}
Options:

51547543229 1

51547543230, 2

61547543231, 3
61547543232, 4

Question Number : 33 Question Id : 61547511088 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(@)-@), (b)-(1), (e)-(id), (d)-(iv)
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()-(iid), (b)-(iv), (0)-(i), (d)-(D)
(2)-(iv), (b)-(0), (e)-(1), (d)-(iiD)

61547543229 1
61547543230, 2
E1547543221. 3
B1547543232. 4
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Question Number : 34 Question Id : 61547511089 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the following soil orders with their descriptions

(a) Histosols (1)
(b) Andisols (11)
(¢) Gelisols (111)
(d) Anridsols (1v)

Choose the correct option from those given below -

(1) (a)-(iv), (b)-(1), (c)-(11), (d)-(111)
(2) (a)-(i1), (b)-(iv), (¢)-(1), (d)-(ii1)
(4) (a)-(1), (b)-(11), (¢)-(av), (d)-(1i1)

Options:

61547543233, 1

61547543234 2

61547543235 2

61547543236 4

Soil order that includes soils formed on
volcanic ash

Soil order of cold regions including
soils underlain by permafrost

Soil order consisting of soils of dry
climates

Soi1l order consisting of goils with a
thick upper layer of organic matter.

Question Number : 34 Question Id : 61547511089 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0
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(1) (a)-(iv), (b)-(1), (c)-(11), (d)-(1i1)
(2) (a)-(i1), (b)-(iv), (¢)-(1), (d)-(ii1)
(3) (a)-(1), (b)-(i1), (c)-(ii1), (d)-(iv)
4) (a)-(1), (b)-(i1), (c)-(iv), (d)-(i11)

Options:

615475423253 1

61547543224 2

61547543235 3

E1547543226. 4

Question Number : 35 Question Id : 61547511090 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Match List — I with List - IT

List I List I1
(Digital Initative) (Purpose)
(a) UMANG (1) G2B Services
(b) BHIM (1) Learning platform
(¢) eBiz (111) Unified payment interface
(d) SWAYAM (iv) Single point of access to all

governme nt services.

Choose the correct option :

(1) (a)-(1), (b)-Q). (c)-(i1), (d)-(v)
(2) (a)-(111), (b)-(), (¢)-(1v), (d)-()
(3) (a)-(v), (b)-(i11), (¢)-(1), (d)-(11)
(4) (a)-(1), (b)-(v), (c)-(11), (d)-(111)



Options:

61547543237, 1
61547543238 2
E1547543239 2
61547542240, 4

Question Number : 35 Question Id : 61547511090 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) (a)-(i1), (b)-(1), (¢)-(ii1), (d)-(iv)
(3) (2)-(), (b)-(11), (¢)-(1), (d)-(11)
(4) (a)-(1), (b)-(iv), (e)-(11), (d)-(111)

Options:

61547543237, 1

61547543238 2

61547543239, 3
61547543240, 4

Question Number : 36 Question Id : 61547511091 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match correctly the items of Column I with the items of column II

(a)
(b)
(c)
(d)

Column T

Ontology
Epistemology
Methodolgy
Method

Choose the correct option :

(1)
2)
(3)
4)

Options:

(2)-(11), (b)-(iv), (c)-(111), (d)-@)
()-(11), (b)-(1), (¢)-(11), (d)-(1v)
(2)-(1v), (b)-(1), (c)-@), (d)-(11)
(a)-(11), (b)-(1v), (¢)-(@), (d)-(111)

61547543241, 1
E1547543242. 2
E1547543243. 3
61547543244, 4

(1)
(11)
(111)
(1)

Column II

Ideographic
Realism
Survey
Positivism

Question Number : 36 Question Id : 61547511091 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

(a)-(11), (b)-(v), (c)-(11), (d)-@)
(a)-(1), (b)-(1), (¢)-(111), (d)-Gv)
(a)-(iv), (b)-(1), (¢)-(@), (d)-(1i1)
(a)-(11), (b)-(av), (¢)-(1), (d)-(i11)
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E1547543243. 3
61547543244, 4

Question Number : 37 Question Id : 61547511092 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Select the advantage of feedback 1n the process of communication. from the following :

(1) It 15 beneficial in understanding of the subject matter
(2) It diagnoses the defects in receiver
(3) It clarifies the communication
(4) It explores the defects 1in receiver
Options:

61547543245 1
61547543248, 2
E1547543247. 3
E1547543248. 4

Question Number : 37 Question Id : 61547511092 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547543245 1
61547543246, 2
61547543247, 3
E1547543248. 4

Question Number : 38 Question Id : 61547511093 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the following values with their distinguishing functions :

(a)
(b)

(c)
(d)

Last I

Sacrifice

Sincerity

Self control

Altruism

@
(11)

(111)
(1v)

Choose the correct option from those given below :

(1)
(2)
(3)
(4)

Options:

(a)-(11), (b)-(D), (¢)-(v), (d)-(111)
(a)-(1v), (b)-(1), (e)-(i1), (d)-(i11)
(a)-(111), (b)-(1v), (¢)-(1), (d)-(11)
(a)-(1), (b)-(i1d), (¢)-(11), (d)-@v)

E1547543249. 1
61547543250, 2
61547543251, 3
61547543252, 4

Last II

Working in a stipulated time

Confinement of individual mind on

action
Showing love and affection

Helping without selfish motives

Question Number : 38 Question Id : 61547511093 Question Type: MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) (2)-@1), b)-G), (c)-(v), (d)-@ii)
(2) (a)-(iv), (b)-(i), (e)-(i1), (d)-(ii1)
(3) (a)-(iii), (b)-(iv), (¢)-(1), (d)-(i1)
@) (@)-Q), (b)-Gid), (0)-(d), (d)-(iv)

Options:

61547543249, 1
61547543250 2
61547543251 =2
E1547543252 4

Question Number : 39 Question Id : 61547511094 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Select the option that lists components for a cyberspace address (URL) in the correct order
from beginning to end?
(1) Protocol, domain name of the host, path / file
(2) Path / file, protocol, domain name of the host
(3) Protocol, path /file, domain name of the host
(4) Domain name of the host, protocol, path / file
Options:
E154754=252 1
G1547543254 2
61547543255 3
51547543256 4

Question Number : 39 Question Id : 61547511094 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

15475452551

1547542254 2

1547543255 2

E1547543256 4

Question Number : 40 Question Id : 61547511095 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following sequence represents the correct order of soil particles arranged in
terms of particle size from the smallest to the largest?

(1) Gravel, Silt, Clay, Sand (2) Silt, Clay, Gravel, Sand
(3) Clay, Silt, Sand, Gravel (4) Silt, Clay, Sand, Gravel
Options:

61547543257, 1
E1547543258. 2
E1547543259. 3
61547543260, 4

Question Number : 40 Question Id : 61547511095 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) =i, e, Wedl, S e
2 M, M, w9, "9
(3 e, T, 9w, e

(4 e, W, =reg, s,

Options:

61547543257,
61547543258,
61547543259,
E1547543260.

[ N

Question Number : 41 Question Id : 61547511096 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Arrange the steps of research in the sequence in which they are presented in the thesis

(1) Discussion, Review of Literature, Results, Conceptual Framework, Problem

(2) Review of Literature, Problem, Conceptual Framework, Result, Discussion

(3) Problem, Review of Literature, Conceptual Framework, Results, Discussion

(4) Problem, Review of Literature, Conceptual Framework, Results, Discussion
Options:

E1547543261. 1
E1547543262. 2
61547543263, 3
61547543264, 4

Question Number : 41 Question Id : 61547511096 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

IMI-FTHT 1 IMNG-T& § Teqq FHd T 9 7 F GoIE] ST 2 ¢
(1)  wf=s=l, Arfecd hi TH1e, TR0, STFERo S, THE
(2)  TECT <hi THIET, WS, SAFENON 0, TRy, aiEeEt

(3)  THEHI, Wiiecd <hi FHIeT, SFFURON @M, T
(4)  HEEE, Hifecq hi FHiEn, SEYwn e, i

Options:

61547543261, 1
E15475432E82. 2
615475423262, 5
615475423264, 4

Question Number : 42 Question Id : 61547511097 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements - one is labeled as Assertion (A) and the other is labeled as

Reason (R):

Assertion (A) :  Through on-line teaching a large number of students can be taught by very
competent faculty.

Reason (R) : On-line teaching helps students in developing critical thinking more than

the Off —line teaching can do.

In the light of the above two statements choose the correct option :

(1)
(2)
(3)
4)

Options:

Both (A) and (R) are true and (R) is the correct explanation of (A)
Both (A) and (R) are true and (R) is not the correct explanation of (A)
(A) 1s true, but (R) 1s false

(A) 1s false, but (R) 1s true

51547543265, 1
61547543266, 2
61547543267, 3
E1547543268. 4

Question Number : 42 Question Id : 61547511097 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

1547543285 1

15475432686 2

61547543267, 3
E1547543268. 4

Question Number : 43 Question Id : 61547511098 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are two statements - one 1s labeled as Assertion (A) and the other 1s labeled as

Reason (R):

Assertion (A): A blog is a form of social media.

Reason (R) : A blog allows anyone to communicate to a public audience.
In the light of the above two statements, choose the correct option :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
2) Both (A) and (R) are ture and (R) 1s not the correct explanation of (A)
(3) (A) 1s true, but (R) is false

4) (A) 1s falze, but (R) 1s true



Options:

61547543269, 1
61547543270 2
E1547543271. 2
61547543272, 4

Question Number : 43 Question Id : 61547511098 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(4) (A) ToTa 2 Tohg (R) TET 2 |

Options:

61547543269, 1
61547543270 2
61547543271 2
61547543272 4

Question Number : 44 Question Id : 61547511099 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements - one is labeled as Assertion (A) and the other is labeled as

Reason (R):

Assertion (A) :  Skill development is a key feature in every individual’s life.
Reason (R) : An individual who wants to get emploved, needs to possess good education
only.

In the context of above two statements, choose the correct option :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A) 1s true, but (R) 1= false

(4) (A) 1s false, but (R) is true
Options:
61547543273 1
E1547542274. 2
61547542275 2
61547543276 4

Question Number : 44 Question Id : 61547511099 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
19 g1 Y 12U 0 §- UF W ATHFGT (A) IR TR F T (R) T T
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(3) (A) F81 8, 7g (R) T 2 |

(4) (A) a8, g (R) TE 2 |

Options:
61547543273 1

E1547543274. 2



B1547543275. 3
B1547543276. 4

Question Number : 45 Question Id : 61547511100 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Given below are two statements - one is labeled as Assertion (A) and the other is labeled as

Reason (R):

Assertion (A):  Government of India established higher educational statutory bodies to

ensure quality of education.

Reason (R) : There are some educational institutions in India which do not provide

quality education.
In the context of above two statements, choose the correct option :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A) is true, but (R) is false

(4) (A) 1s false, but (R) 1s true
Options:

61547543277 1

E1547542278. 2

E15475422749 2

61547543280 4

Question Number : 45 Question Id : 61547511100 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(3) (A=l g W, (R) T # |

4) (A TeE R 7, (R)HE R
Options:
61547543277, 1
61547543278 2
61547543279 2
E1547543280. 4

Sub-Section Number: 3
Sub-Section 1d: 615475480
Question Shuffling Allowed : Yes

Question Id : 61547511101 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (46 to 50)
Cuesticon Label | Comprehension



Read the following passage and answer questions which follow.

Eventhough globalisation i1s one of the most discussed topics in the contemporary world. it 1s
not altogether a well defined concept. A multitude of global interactions are put under the
broad heading of globalisation. varving from the expansion of cultural and scientific
influences across borders to the enlargement of economic and business relations throughout
the world. A wholesale rejection of globalisation would not only go against global business, 1t
would also cut out movements of 1deas. understanding. and knowledge that can help all the
people of the world. including the most disadvantaged members of the world population. A
comprehensive rejection of globalisation can thus be powerfully counterproductive. There 15 a
strong need to separate out the different guestions that appear merged together in the
rhetoric of the antizlobalizsation protests. The globahsation of knowledze deserves a
particularly high profile recognition. despite all the good things that can be mghtly said
about the importance of "Local knowledge”.

Globalisation 1s often seen. both in journalistic discussions and in remarkably many
academic writings. as a process of westernization. Indeed. zome who take an upbeat iew of
the phenomenon even sees 1t as a contribution of Western civilization to the world.

Sub questions

Question Number : 46 Question Id : 61547511102 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
According to the passage, which one of the following is not a well defined concept?

(1) Multiculturalism
(2) Identity

(3) Globalisation

(4) Local Knowledge

Options:

615475432511
615475423282, 2
615475423282 o
61547543254 4

Question Number : 47 Question Id : 61547511103 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

According to the passage, which one of the following is counter productive?
(1) Comprehensive support to globalisation

(2) Wholesale rejection of globalisation

(3) Comprehensive rejection of anti — globalisation protests

(4) Recognition of local knowledge systems

Options:



E1547543285. 1
61547543286, 2
61547543287, 3
61547543288, 4

Question Number : 48 Question Id : 61547511104 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
According to the passage, globalisation i1s perceived often by media and academia as :

(1) Supporting local knowledge systems
(2) Detrimental to local knowledge systems
(3) A process of Westernisation

(4) A process of facilitating global bussiness
Options:
E1547543289 1
61547543290 2
61547543291 2
61547543232 4

Question Number : 49 Question Id : 61547511105 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The attempt of the author in the passage is :

(1) Unconditioned advocacy of globalisation

(2) Unconditioned rejection of globalisation

(3) Unconditioned rejection of local knowledge systems
(4) Unbiased evaluation of globalisation

Options:

61547543293, 1
61547543234, 2
61547543235, 3
E15475432396. 4

Question Number : 50 Question Id : 61547511106 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



As per the passage, a wholesale rejection of globalisation would result in affecting

(a) Global businesses
(b) Movement of Ideas

(c) Local knowledge systems

Choose the correct answer from the options given below :

(1) (a) and (b) only
(2)  (a)and (c) only
(3) (¢) and (b) only
@ (a). (b) and (0)

Options:

61547543297, 1
61547543298 2
61547543299 2
61547542200 4

Question Id : 61547511101 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (46 to 50)
Cuestion Label © Comprehension
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Sub questions

Question Number : 46 Question Id : 61547511102 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



TS o SATAR FARgd § § i URETYG STaRo T8 8 7

(1)  Fg-H&Hiaang (2) UEAH

(3)  IAvEEE (4) TIHEF TE

Options:

61547543281, 1
E1547543282 2
615475423282, 5
61547542284, 4

Question Number : 47 Question Id : 61547511103 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

TES T HTEN g | W R AR w

(1) S 1 =T gee (2) dvdiF i =E S
(3)  dvdrmm-fd el o o sl (4)  waEE IE gl e
Options:

E154754=285. 1

C1547543256. 2

E1547543287. 3
61547543288, 4

Question Number : 48 Question Id : 61547511104 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

E1547543289. 1
61547543230, 2
61547543231, 3
61547543232, 4

Question Number : 49 Question Id : 61547511105 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547543293, 1
61547543294 2
£1547543295 =2
61547542296, 4

Question Number : 50 Question Id : 61547511106 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547543297, 1
E1547543298 2
61547542299, 5
61547542200 4
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Section Id : 615475148

Section Number : 2

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 92

Number of Questionsto be attempted: 92

Section Marks: 200

Display Number Pane: Yes

Group All Questions: No
Sub-Section Number: 1

Sub-Section 1d: 615475481



Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 61547511107 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which one of the following 1s NOT associated with authority?

(1) Right to 1ssue directions

(2) Obligation to perform the assigned tasks
(3 Delegated from superior to subordinates
(4) Flows from top to bottom

Options:

615475433201, 1
61547543302 2
E1547543203 2
61547542204, 4

Question Number : 51 Question Id : 61547511107 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(1) s ol s o afsn
(2)  TeEm = e = g
(3) 3= H Ty W
4  FRYHAEF g
Options:
61547543301, 1
61547543302, 2

61547543303, 3
E1547543204. 4

Question Number : 52 Question Id : 61547511108 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Among the following, who 1s known as the father of Human Relations Approach?

(1) Henri Fayol (2) F.W. Taylor
(3) J. Woodward (4) Elton Mayo
Options:

E1547543205. 1
E1547543206. 2
61547543207, 3
51547543208, 4



Question Number : 52 Question Id : 61547511108 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

feaferfiga d | H w=a a9 g & 59 & w9 U SE1 w27

(1) EER i (2) UE. TS, Tl
(3) & g=9% (4) U HE
Options:

61547543305, 1
E1547543206. 2
61547543207, 3
51547543208, 4

Question Number : 53 Question Id : 61547511109 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Taylor advocated ‘Functional Foremanship' to introduce :

(1) Differential piece-wage plan (2) Standardisation
(3) Work study (4) Specialisation
Options:

61547543205, 1
61547543210, 2
61547543211, 3
E1547543212. 4

Question Number : 53 Question Id : 61547511109 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

oo “wasrae SR i asrerd 38 3 #0 & fau f

(1)  Tadze s geEd FE (2) U
(3) =4 AT (4) SR
Options:

E1547543209. 1
61547543210, 2
61547543211, 3
61547543312 4

Question Number : 54 Question Id : 61547511110 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Factors with the high probability of impact and high degree of 1impact are known as :

(1) High priority factors
(2) Low priority factors
(3) Critical factors

(4) Factors to be watched
Options:
61547543513 1
61547543514 2
51547543515 2
15475423216 4

Question Number : 54 Question Id : 61547511110 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

qTE ) IEd GUrSAl SR U9 & IR el R FEed B

(1)  F=ama S Fre
(2) T e EEd FEF
(3)  faafra s
(4) =W HHE 9 FE
Options:
61547543313 1
61547543314, 2

61547543215 3
61547543316, 4

Question Number : 55 Question Id : 61547511111 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following 18 NOT a principle of coordination?

(1) Direct contact
(2) Early start
(3) Precise and comprehensive programmes and policies

(4) Continuity

Options:

615475435171
61547542218, 2
61547543319 2
61547543320 4

Question Number : 55 Question Id : 61547511111 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(1)  deae 9o (2)  grfue g
(3)  HEre vd fgega wren vd Hifag] (4) e
Options:

515475432171
61547543218, 2
61547543319, 3
E15475432320. 4

Question Number : 56 Question Id : 61547511112 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who among the following introduced the ‘principle of bounded rationality’?

(1) Herbert Simon (2) Max H. Bazerman
(3) Tereza M. Amabile (4) Weilhrich and Koontz
Options:

615475433211
61547543322 2
E15475435323. 3
E1547543224. 4

Question Number : 56 Question Id : 61547511112 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

freqferfian O fraq o difadera = fasm =6 sperm 7

(1)  #d HHM (2) e\ Ud, S
(3) v UM, uHTEEd (4) <ifra vg %4
Options:

E1547543221. 1
B1547543322 2
61547543323, 3
61547543324, 4

Question Number : 57 Question Id : 61547511113 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Who described the mechamistic and orgame or behavicural organization structures?

(1) Tom Burns and G.M. Stalker (2) Terry and Franklin
(3) Robert H Miles (4) Kathryn M. Bartol and Dawnid C. Martin

Options:



E15475435325. 1
61547543326, 2
61547543327, 3
61547543328, 4

Question Number : 57 Question Id : 61547511113 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

615475433251
61547543326, 2
61547543327, 3
61547543328, 4

Question Number : 58 Question Id : 61547511114 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Who said that, “Coordination 1s the orderly arrangement of group efforts to provide unity of
action in the pursult of a common purpose™?

(1) George R. Terry (2) Ralph C. Dawvis
(3) Chester Barnard (4) dJames D. Mooney
Options:

E1547543229. 1
61547543220, 2
61547543221, 3
61547543332, 4

Question Number : 58 Question Id : 61547511114 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

B1547543229. 1
61547543220, 2



E1547543231. 3
61547543332, 4

Question Number : 59 Question Id : 61547511115 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A systematic procedure for collecting, storing, maintaining. retrieving and validating data
needed by an organization about its human resources 1s termed as :

(1) Human Resource Forecasting (2) Human Resource Information System
(3) Human Resource Scanning (4) Human Resource Succession Planning
Options:

615475433352 1
E15475435224. 2
E1547543235. 3
615475432336, 4

Question Number : 59 Question Id : 61547511115 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0
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Options:

51547543233, 1
61547543334, 2
61547543335 3
E1547543336. 4

Question Number : 60 Question Id : 61547511116 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following 18 NOT an item of job description statement?

(1) Experience (2) Job summary
(3) Working conditions (4) Hazards
Options:

E1547543237. 1
E1547543238. 2
61547543239, 3
61547543240, 4



Question Number : 60 Question Id : 61547511116 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

51547543237, 1
61547543328, 2
61547543339, 3
E1547543240. 4

Question Number : 61 Question Id : 61547511117 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Explaiming the relationship between satisfaction and performance. which of the following

models suggests that performance leads to satisfaction?

(1) Maslow's Need Hierarchy Model (2) Herzberg's Two Factor Model
(3 Adam’s Equity Model (4) Porter-Lawler Model
Options:

E1547543241. 1
B15475432342 2
61547543243, 3
61547543344, 4

Question Number : 61 Question Id : 61547511117 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

6154754323411
61547543342 2
E1547543343. 3
E15475435344. 4

Question Number : 62 Question Id : 61547511118 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



From among the following, which one 15 NOT an avoidance mode of conflict management?

(1) Resignation (2) Appeasement
(3) Negotiation (4) Defusion
Options:

E1547543245. 1
61547543246, 2
615475432347, 3
61547543348, 4

Question Number : 62 Question Id : 61547511118 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

615475432451
61547543346, 2
61547543347, 3
E154754323458. 4

Question Number : 63 Question Id : 61547511119 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following two leadership behaviour patterns were identified by Ohio State
Studies?

(1) Emplovee Onentation and Production Orientation

(2) Initiating Structure and Consideration

(3) Concern for Production and Concern for People

(4) Personalism/Materialism and Opportunism
Options:

51547543249 1
61547543350, 2
61547543351, 3
61547543352, 4

Question Number : 63 Question Id : 61547511119 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



stfed tea stegad g fatea fefofiaa O &9 21 Hda sgaan idey 47
(1) Al S s 3T SEe
(2) o i EER g
(3)  FeUTEd I I S 9 HUER
(4) el Siidwas 3R SaEEn
Options:
61547543349, 1
15475423350 2

E1547543351. 3
E15475435352. 4

Question Number : 64 Question Id : 61547511120 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

The Propingquity Theory of group formation explains that groups are formed on the basis of :

(1) Spatial or geographical proximity

(2) Similar attitudes towards commonly relevant objects and goals
(3) Activities, interactions and sentiments

(4} Reward-cost outcomes of interactions

Options:

E1547543253. 1
61547543254, 2
61547543355 3
61547543356, 4

Question Number : 64 Question Id : 61547511120 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:



E15475435353. 1
61547543254, 2
51547543355, 3
61547543356, 4

Question Number : 65 Question Id : 61547511121 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

While staffing a multinational company. if the top management considers national
subsidiaries as independent units and allows them to fill management posts themselves with
host-country nationals. then the approach 1s known as :

(1) Ethnocentricity (2) Polycentricity
(3) Geocentricity (4) Reglocentricity
Options:

61547543357, 1
61547543358, 2
61547543359, 3
E15475432360. 4

Question Number : 65 Question Id : 61547511121 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

51547543357, 1
61547543358, 2
61547543359, 3
61547543360, 4

Question Number : 66 Question Id : 61547511122 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Dunmning's eclectic theory has 1dentified three conditions which must be met by a company
that wishes to set up production 1n a foreign country and wants to operate as a multinational.
Which of the following 12 NOT included in the three conditions given by Dunning?

(1) Location advantages (2) Internationalization advantages
(3) Ownership advantages (4) Quality advantages
Options:

E1547543561. 1



E15475435362. 2
615475435363, 3
61547543264, 4

Question Number : 66 Question Id : 61547511122 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

61547543361, 1
61547543362, 2
E1547543563. 3
E1547543564. 4

Question Number : 67 Question Id : 61547511123 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Taking into consideration the four different lavers of culture as suggested by Hofstede.
1dentify which one of the following 1s the first or outermost level?

(1) Rituals (2) Heroes
(3) Symbols (4) Values
Options:

E1547543565. 1
515475435366, 2
B1547543367. 3
61547543368, 4

Question Number : 67 Question Id : 61547511123 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

515475435365, 1
61547543366, 2
61547543367, 3
E1547543568. 4



Question Number : 68 Question Id : 61547511124 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Edgar Schein has 1dentified different dimensions of organizational roles. one of which 1s a
social dimension. Which one of the following terms 1s associated with the social dimension?

(1) Inclusionary (2) Functional
(3) Hierarchial (4) Exclusionary
Options:

E154754326%9. 1
E1547543270. 2
61547543371, 3
61547543372, 4

Question Number : 68 Question Id : 61547511124 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

61547543369, 1
61547543370, 2
E15475435371. 3
B15475435372. 4

Question Number : 69 Question Id : 61547511125 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In which Section of the Industrial Employment (Standing Orders) Act. 1946. there 1s a
provision for payvment of subsistence allowance?

(1) Section 10 (2) Section 10 A
(3) Section 11 (4) Section 12 A
Options:

615475433721
E15475435374. 2
B15475432375. 3
61547543376, 4



Question Number : 69 Question Id : 61547511125 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

615475433721
E15475435374. 2
B15475432375. 3
61547543376, 4

Question Number : 70 Question Id : 61547511126 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which Article of the Constitution of India deals with the prohibition of Employment of
Children in Factories ete.?

(1) Article 17 (2) Article 19
(3 Article 24 (4) Article 25
Options:

61547543377, 1
61547543378, 2
E1547543379. 3
E15475432380. 4

Question Number : 70 Question Id : 61547511126 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

B15475432377. 1
615475432378, 2
61547543379, 3
61547543380, 4

Question Number : 71 Question Id : 61547511127 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following 1z the first convention adopted by the International Labour

Organisation in the yvear 19197

(1) Hours of Work (Coal Mines) Convention
(2) Hours of Work (Industry) Convention
(3) Hours of Work (Commerce and Offices) Convention

(4) Hours of Work and Rest Periods (Road Transport) Convention

Options:
15475422811

E15475435382. 2
E1547543283. 3
61547543284, 4

Question Number : 71 Question Id : 61547511127 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
615475435511

E15475435382. 2
E1547543283. 3
61547543284, 4

Question Number : 72 Question Id : 61547511128 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The employment of young persons on dangerous machines 1s prohibited under which Section

of the Factories Act, 19487

(1) Section 21 (2) Section 22

(3) Section 23 (4) Section 24



Options:

61547543385, 1
61547542386 2
E1547543287. 2
615475423288, 4

Question Number : 72 Question Id : 61547511128 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547543385, 1
61547543386, 2
E1547543387. 3
E1547543288. 4

Question Number : 73 Question Id : 61547511129 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What 15 the himitation period for filing prosecution. from the date on which the alleged
commission of offence comes to the knowledge of the Inspector under the provisions of the
Contract Labour (Regulation and Abolition) Act, 19707

(1) Within two months (2) Within three months
(3) Within s1x months (4) Within twelve months
Options:

61547543389, 1
61547543330, 2
E15475435391. 3
E15475435392. 4

Question Number : 73 Question Id : 61547511129 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E15475435389. 1



E15475432390. 2
61547543251, 3
61547543352, 4

Question Number : 74 Question Id : 61547511130 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

What percent of the number of days. an emplovee of a seasonal establishment has to work.
out of the total number of the days the establishment 1s operational. in order to claim to be 1n
continuous service under the provisions of the Payvment of Gratuity Act. 19727

(1) Fifty percent (2) Sixty percent
(3) Seventy five percent (4) Ninety percent
Options:

E15475435393. 1
E1547543394. 2
61547543385, 3
61547543396, 4

Question Number : 74 Question Id : 61547511130 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

5154754323593, 1
61547543254, 2
61547543335 3
61547543396, 4

Question Number : 75 Question Id : 61547511131 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Under the Minimum Wages Act, 1948, a minimum rate of remuneration to apply in the case
of emplovees employed on piece work. for the purpose of securing such employees a minimum
rate of wages on a time work basis 1s known as :

(1) A minimum time rate (2) A minimum plece rate
(3) A guaranteed time rate (4) Overtime rate
Options:

B15475432397. 1
615475432398, 2
61547543399, 3
61547542400, 4



Question Number : 75 Question Id : 61547511131 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547543397, 1
615475433958, 2
E15475432399. 3
E1547543400. 4

Question Number : 76 Question Id : 61547511132 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

As per the provisions of the Mimimum Wages Act, 1948, a claim shall be presented within
which time period from the date on which, the minimum wages become payable?

(1) Two months (2) Three months
(3) S1x months (4) Twelve months
Options:

61547543401, 1
61547543402 2
61547543403, 3
E1547543404. 4

Question Number : 76 Question Id : 61547511132 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547543401, 1
E1547543402. 2
E1547543403. 3
51547543404, 4

Question Number : 77 Question Id : 61547511133 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



As per the provisions of the Pavment of Bonus Act. 1965. set off can be done for next how
many accounting vears?

(1) Five years (2) Four vears
(3) Two years (4) Six years
Options:

51547543405, 1
61547543406, 2
61547543407, 3
E1547543408. 4

Question Number : 77 Question Id : 61547511133 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547543405 1
61547543408, 2
E1547543407. 3
E1547543408. 4

Question Number : 78 Question Id : 61547511134 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What 1s the time limit within which the emplover 1s required to pay bonus to the emplovees.
in case of any dispute relating to bonus. on which the award becomes enforceable or the
settlement comes Into operation as per the provisions of the Payvment of Bonus Act, 19657

(1) One month (2) Two months
(3) Six months (4) Eight months
Options:

E154754340%8. 1
E1547543410. 2
B1547543411. 3
61547543417, 4

Question Number : 78 Question Id : 61547511134 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547543409, 1
E1547543410. 2
E1547543411. 3
B154754341%. 4

Question Number : 79 Question Id : 61547511135 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0
As per the amendment made in the Payment of Wages Act, 1936 in the vear 2005, who shall
appoint inspectors for the purpose of the Payment of Wages Act In respect of all persons

emploved upon a raillway (otherwise than in a factory) to whom the provisions of the Act

apply?

(1) The Central Government (2) The State Government

(3) The appropriate Government (4) The Chief Inspector
Options:

61547543412 1
E1547543414. 2
E1547543415. 3
B1547543416. 4

Question Number : 79 Question Id : 61547511135 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0
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Options:

E1547543412. 1
E1547543414. 2



E1547543415. 3
51547543416, 4

Question Number : 80 Question Id : 61547511136 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

As per the provisions of the Industrial Employment (Standing Orders) Act. 1946, a Standing

Order finally certified shall not be modified until the expiry of how many days/months?

(1) Fifteen days (2) Thirty days
(3) Three months (4) Six months
Options:

B1547543417. 1
61547543418, 2
61547543419 3
61547543420, 4

Question Number : 80 Question Id : 61547511136 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0
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Options:

61547543417, 1
E154754341858. 2
E1547543413. 3
61547543420, 4

Question Number : 81 Question Id : 61547511137 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which of the following 1= NOT included in the defimition of ‘Wages' as mentioned 1n the
Payvment of Wages Act, 19367

(1) Bonus as a part of salary.

(2) Remuneration payable under any award or settlement between the parties or order of
a Court.
(3) Remuneration in respect of overtime work or any leave period.
(4) Any travelling allowances or the value of any travelling concession.
Options:

615475434211
61547543422 2
61547543422 3
E1547543424. 4

Question Number : 81 Question Id : 61547511137 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
61547543421, 1
1547543422 2

E1547543423. 3
E1547543424. 4

Question Number : 82 Question Id : 61547511138 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following matters does NOT fall within the jurisdiction of the ‘Industrial

Tribunal constituted under the provisions of the Industrial Disputes Act. 19477

(1) Classification by Grades
(2) Rationalisation
(3) Leave with Wages and Hohidays

(4) Illegality or otherwise of a strike or lockout

Options:



E1547543425. 1
B1547543426. 2
61547543427, 3
61547543425, 4

Question Number : 82 Question Id : 61547511138 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
£1547543425 1
£1547543426. 2

B1547543427. 3
61547543425, 4

Question Number : 83 Question Id : 61547511139 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which one of the following 1s to be held as an ‘Industrv’, under the definition of ‘Industry’
mentioned 1n the Industrial Disputes Act, 19477

(1) Posts and Telegraph Department
(2) Construction and Maintenance of Highways
(3 Central Institute of Fizheries

(4) The Dock Labour Board
Options:
E154754=4259. 1
61547543420 2
61547542451 2
51547543452 4

Question Number : 83 Question Id : 61547511139 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

61547543429 1
E1547542430 2
61547542421, 5
61547542432 4

Question Number : 84 Question Id : 61547511140 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

“Same work or work of a similar nature” iz defined under which one of the following
legislations?

(1) The Payment of Wages Act (2) The Minimum Wages Act
(3) The Equal Remuneration Act (4) The Pavment of Bonus Act
Options:

61547543433 1
61547543434, 2
61547543435 3
B1547543436. 4

Question Number : 84 Question Id : 61547511140 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Toferfiaa fauei 1 4 fras siwia aum 0 sg aaey yFfa afla 27

(1) wergh Hem sfafem (2) = HaEd sty
(3)  HuA Tl sy (4) @8 Hem wiafaam
Options:

E1547543433. 1
E1547543424. 2
61547543435 3
61547543436, 4

Question Number : 85 Question Id : 61547511141 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



In which three Articles of the Constitution of India. provisions have been specified for
ensuring health and safety of workers?

(1) Articles 24, 25 and 26 (2) Articles 38. 39 (e and f) and 37
(3) Articles 24, 39 (e and ) and 42 (4) Articles 41, 42 and 43
Options:

B1547543437. 1
61547543438, 2
61547543439, 3
61547543440, 4

Question Number : 85 Question Id : 61547511141 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

T o e & f6a dF sg=el d e & e vd gian # giiva w6 & fo ey sfeafas 87

(1) =97 24, 25 3R 26 (2) = 38, 39 (3 TR WE) 3 37
(3)  =gedE 24, 39 (4 s uw) v 42 (4 HTHE 41, 42 9143
Options:

E1547543437. 1
51547543438, 2
61547543435, 3
61547543440, 4

Question Number : 86 Question Id : 61547511142 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Safety departments in industrial umts have both Human Resource Unit and Safety
Managers. From amongst the functions mentioned below, which i1s NOT the function of
Human Resource Unit 1n a safety department?

(1) Coordinating health and safety programmes
(2) Investigating accidents

(3) Accidents investigation expertize
(4) Providing technical expertise on accident prevention
Options:

61547543441, 1
E1547543442 2
E1547543443. 3
51547543444, 4

Question Number : 86 Question Id : 61547511142 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
51547543441, 1
51547543442, 2

61547543443, 3
E1547543444. 4

Question Number : 87 Question Id : 61547511143 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Based on the statement given below. choose the correct option :

‘The strength of the demand for any particular tvpe of labour will depend upon the marginal
productivity of labour and the market value of the product’.

(1) The statement 12 correct
(2) The statement 1s wrong
(3) Marginal productivity of labour has nothing to do with demand for labour
(4) Market value or price of the product and demand for labour are not related
Options:
51547542445 1
61547543446 2

61547543447, 3
61547543445 4

Question Number : 87 Question Id : 61547511143 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
61547542445 1

E154754344E. 2
E1547543447. 3
615475434458, 4

Question Number : 88 Question Id : 61547511144 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

Based on the statement given below, choose the correct option :
‘For the industry as a whole, the supply of labour 1s not infimitely elastic’.

(1) The statement 1s not true

(2) The statement 13 true

(3) Supply of labour to a given firm 1s 1nelastic
(4) The elastic character 1s not relevant in the context of supply of labour
Options:

51547543445 1
61547543450, 2
61547543451, 3
E1547543452. 4

Question Number : 88 Question Id : 61547511144 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
61547542449 1

E1547543450. 2
E1547543451. 3
61547543452, 4

Question Number : 89 Question Id : 61547511145 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In a developing economy like India, unemployment 1s the result of :

(1) Deficiency of effective demand 1n the Keynesian sense
(2) Displacement of workers
(3) Shift from Primary to Tertiary Sector

(4) Shortage of capital equipment or other complimentary resources

Options:

61547543453 1
61547543454 2
61547542455 5
61547542456 4

Question Number : 89 Question Id : 61547511145 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547543453, 1
61547542454 2
61547543455 =
61547543456 4

Question Number : 90 Question Id : 61547511146 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
‘Open Unemployment’ 1s also known as :

(1) Weekly Status Unemployvment (2) Daily Status Unemployment
(3) Usual Principal Status Employment (4} Seasonal Unemployment

Options:
61547542457 1

E1547543458. 2
51547543459, 3
51547543460, 4

Question Number : 90 Question Id : 61547511146 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

E1547543457. 1
51547543458, 2
61547543455, 3
61547543460, 4

Question Number : 91 Question Id : 61547511147 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Consider the following management theories

(a) Svstems theory
(b) Quantitative theory
(c) Behawvioural Science theory

(d) Contingency theory

Which of the above are modern management theories?
(1)  Only (a) and (b)

(2) Only (a) and (e)

(3)  Only (a), (b) and (d)

(4) (a). (b). (c) and (d)

Options:

61547543461, 1
61547543462 2
61547542463 2
E1547542464 4

Question Number : 91 Question Id : 61547511147 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
freferiaa seem Prgrdl o = Fifs
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(1)  %ae (a) N (b)

(2) & (a) 3 ()

(3)  #a (a). (b) #F (d)
4  (a). (b). (c) 3 (d)

Options:

61547543461, 1
61547543462 2
61547542462 5
61547542464 4

Question Number : 92 Question Id : 61547511148 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
Consider the following statements related to HR Audit :

(a) HR Audit 12 a method of evaluating the current Human Resource Development

(b) HR Audit also helps in calculating the investments made in training and estimating

the returns on such investments

(c) HR Audit assesses the training needs and utilization of training as a tool for

orgamizational learning, growth and development

Which of the above 1s/are correct?

(1)  Only (a)

(2)  Only (b)

(3) Only (a) and (c)
(4) {a). (b) and (c)

Options:
61547542485 1

E1547543466. 2
B1547543467. 3
51547543468, 4

Question Number : 92 Question Id : 61547511148 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
L1547543465 1
15475 4=3406 2

E1547543467. 3
E1547543468. 4

Question Number : 93 Question Id : 61547511149 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Choose the correct answer regarding the theories of motivation from the following

statements :

(a) The concept of ERG theory 1s similar to Maslow’'s hierarchy of needs
(b) Theory X' and Y are similar to each other

(c) Two factor theory 1s similar to Vroom's theory

Choose the correct option from the following :
(1) Only (a)

(2) Only (b)

(3) Only (a) and (b)

(4 (a). (b) and (c)

Options:

61547543469, 1
61547542470, 2
61547543471, =
61547543472 4

Question Number : 93 Question Id : 61547511149 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:



E154754346%9. 1
61547543470 2
51547543471, 3
61547543472, 4

Question Number : 94 Question Id : 61547511150 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Given below are some of the barriers of communication :

(a) Perceptions

(b) Interpersonal sensitivity

(c) Differing frames of reference
(d) Information overload

From among the above identify the barriers, which are considered as sender-related barriers?

(1) (b) and (c)
(2) (a) and (b)
(3) (b) and (d)

(4) (c) and (d)
Options:
61547543473 1
E15475423474 2
E1547543475 3
61547543476 4

Question Number : 94 Question Id : 61547511150 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:
1547542473 1
61547543474 2

61547543475 3
E1547543476. 4

Question Number : 95 Question Id : 61547511151 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Consider the following :
(a) Challenging work
(b) Responsibihity

(c) Status

(d) Job security

(e) Recognition

Which of the above are motivators under Herzberg's Two Factor Theory?

(1) (a) and (c) only

(2) (). (d) and (e) only

(3) (a). (b) and (e) only

(4) (b). (¢). (d) and (e) only

Options:

61547543477, 1
61547543478 2
61547542479 2
E15475424580 4

Question Number : 95 Question Id : 61547511151 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547543477, 1
E1547543478 2
61547542479, 5
61547543450 4

Question Number : 96 Question Id : 61547511152 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Given below are some of the terms along with authors associated with them. Which of the

following pairs are correctly matched?

(a) Product Life Cycle —  Vernon

(b) Core Competence —  Reich

(c) Zero-sum Nationalism —  Prahalad and Hamel
(d) Balanced Seore Card —  Norton

(1)  (a) and (b)
(2)  (b)and (c)
(3)  (b) and (d)
(4) (a) and (d)

Options:

615475434581, 1
61547542482 2
615475424582 5
61547542454 4

Question Number : 96 Question Id : 61547511152 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
A4 F@ 1a 3R 399 Hailud ords 52 7 a2 | Fefrfaa O 4 1 W@ g g9 gafoa 27
(@)  WIEH EE Wgfhe - 944
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(d) TREEIHEE - AA

(1) () 3 (b)
(2)  (b) 3 (¢)
(3)  (b) 3 (d)
(4)  (a) 3 (d)

Options:



E1547543481. 1
61547543482, 2
61547543483, 3
61547543454, 4

Question Number : 97 Question Id : 61547511153 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Some of the areas relating to organizational change are given below :
(a) Marketing

(b} Structure

(c) Strategy

(d) Technology

(e) Costs

(f) Managing people

Choose the correct option from those given below, which includes the areas relating to the

process of change.

(1) (a). (c) and (e)
(2)  (b). (d) and (D)
(3)  (b). (c) and (P
(4)  (a).(b) and (c)

Options:

515475434585, 1
61547542486 2
E1547543487 2
61547542488, 4

Question Number : 97 Question Id : 61547511153 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



ARSI qfad | Faiad @ aF e 9 @

(a)  faguE
(b)  HEA

(€ WA
(d) @R
(e) ey

() EIEERE S

1 T w3 faerel 6 5 9 fasen 944, < ofEda 1 e | dafaa 23 %1 i w3 8|
(1) (a). (o) 37 ()
(2)  (b). (d) 37 (D
(3) (). (0) 3 (D

(4)  (a). (b) 3¥ (¢)

Options:

£1547543485. 1
615475424586, 2
61547542487, o
6154754345858, 4

Question Number : 98 Question Id : 61547511154 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



The four methods of job evaluation are given below :
(a) Ranlking Method

(b) Factor Comparison Method

(c) Job Classification Method

(d) Point Rating Method

Choose the correct option from those given below which come wunder the

Quantitative/Analytical methods :

(1) (b) and (d)
(2) (a) and (c)
(3) (b) and (c)
(4)  (a)and(d)

Options:

61547543459, 1
61547543430 2
61547542491 =2
£15475423492 4

Question Number : 98 Question Id : 61547511154 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)  (b) 3 (d)
(2)  (a) 30 (o)
(3)  (b) 3 (c)

(4)  (a) 3 (d)

Options:

615475434589, 1
61547543430 2
61547542491 =2
£15475423492 4

Question Number : 99 Question Id : 61547511155 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are some of the methods of Demand Forecasting relating to Human Resource
Plannming.

(a) Managerial Judgement

(b) Work-Study Technmique

(c) Expert Opinion

(d) Delphi Technique

(e) Group Bramnstorming

() Nominal Group Technique

Choose the correct option from those given below, which come under the gualitative methods

for demand forecasting :
(1) (a). (b) and (e)
(2)  (c). (d) and (D
(3) (a). (c) and (d)
(4)  (b). (c) and (d)

Options:

51547543493, 1
61547543494 2
61547543495 =
61547542496 4

Question Number : 99 Question Id : 61547511155 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547543493, 1
61547543494 2
61547543495 =2
E15475423496 4

Question Number : 100 Question Id : 61547511156 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Some of the areas relating to orgamzational change are given below :
(a) Marketing

(b) Technologv

(c) Quality

(d) Structure

(e) Strategy

(f) Managing people

Choose the correct option from those given below, which gives the list relating to content of
change.

(1)  (a).(b). (e) and ()
(2) (a). (b) and (c)
(3)  (c).(d) and(e)
(4)  (b). (c). (d) and (D)

Options:

61547543497, 1
61547542498, 2
61547543499 =
61547543500 4

Question Number : 100 Question 1d : 61547511156 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0O
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Options:

61547543497, 1
61547543498, 2
61547543499 2
61547543500 4

Question Number : 101 Question 1d : 61547511157 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are different modes of conflict management.
(a) Resignation

(b) Confrontation

(c) Appeasement

(d) Negotiation

(e) Defusion

From among the following. choose the alternative. which gives the approach modes of conflict

management

(1) (b) and (d)
(2)  (a) and (e)
(3) (c) and (e)
(4) (c) and (d)

Options:

61547543501, 1
61547543502 2
61547543503 =
61547543504 4

Question Number : 101 Question 1d : 61547511157 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
61547543501, 1
61547543502 2

61547543503, 3
61547543504, 4

Question Number : 102 Question Id : 61547511158 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following statements relating to the Governing Body of the ILO are correct?
(a) The Governing Body 12 a non-legislative body

(b) The tenure of the office of the Governing Body 1s ten vears

(c) The Governing Body seeks advisory opinion from the International Court of Justice

(d) It scrutinises the budget of the ILO with the consent of the International Labour

Conference

Select the correct option :

(1)  (a) and (b) only
(2)  (a). (b). (¢) and (d)

(3) (a), (c¢) and (d) only
(4) (b). (c) and (d) only

Options:

61547543505, 1
61547543506, 2
61547543507, 5
61547542508, 4

Question Number : 102 Question Id : 61547511158 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547543505, 1
61547543506 2
E1547543507. 2
61547542508, 4

Question Number : 103 Question Id : 61547511159 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following statements relating to the Grievance Redressal Machinerv envisaged
under Chapter II of the Industrial Disputes Act. 1947 are correct?

(a) Everv industrial establishment employing twenty or more workmen shall have one or
more Grievance Redressal Committee for the resolution of disputes arising out of

mdividual grievances.

(b) The Grievance Redressal Committee shall consist of equal number of members from

the emplover and the workmen.

(c) The total number of members of the Grievance Redressal Committee shall not exceed

more than four.

(d) The Grievance Redressal Committee may complete its proceedings within thirty days
of receipt of an application by or on behalf of the aggrieved party.

Select correct option :
(1) Only (a), (b) and (c) are correct

{(2) Only (b}, (e} and (d) are correct
(3) Only (a). (b) and (d) are correct
(4) Only (a), (c) and (d) are correct

Options:

61547543509, 1
61547543510 2
£1547543511. 2
61547542512, 4

Question Number : 103 Question Id : 61547511159 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)  Fad (a), (b) A (c) W&l 2

(2)  #FEA (b), (c) 3N (d) ¥ &

(3)  Fad (a). (b) HF (d) Bl &

(4) A (a). () 3N (d) HE 2

Options:

61547543509,
61547543510,
61547543511,
61547543512,
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Correct Marks: 2 Wrong Marks: 0



Given below are different bodies provided under the Industrial Disputes Act, 1947.
(a) Works Committee

(b) Court of Inquiry

(c) Board of Conciliation

(d) Grievance Redresszal Committee

From among the following, which alternative includes the bodies whose functioning 1s based

on the principle of bipartite representation?

(1) Only (a) and (b)
(2) Only (a) and (d)
(3) Only (b) and (c)
(4) Only (a). (b) and (d)

Options:

61547543513 1
61547543514 2
61547543515 =2
E1547543516. 4

Question Number : 104 Question Id : 61547511160 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)  Fad (a) 37 (b)
(2)  ad (a) 3N (d)
(3) e (b) HN (o)
(4)  F3 (a). (b) FH (d)

Options:

515475435131
61547543514 2
£1547543515 =2
61547542516, 4

Question Number : 105 Question Id : 61547511161 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following statements relating to the ILO are correct?
(a) The ILO was established by Versailles Peace Conference on Apmnl 12, 1919.
(b) India became member of ILO 1n 1921.
(c) The ILO became a specialized agency of United Nations in 1946.
(d) The International Labour Conference 1s the policy making organ of the ILO.
Select1 the correct option :
(1) (a) and (b) only
(2) (@), (b). (c) and (d)
(3) (b) and (c) only

(4) {c) and (d) only



Options:

61547543517, 1
£1547543518 2
£1547543519 2
61547542520, 4

Question Number : 105 Question Id : 61547511161 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(d) SRS A0 HEEH SR o WA & i -t sm )
a7 faser 949
(1) %59 (a) 3 (b)
(2 (a). ®). () 3 (@)
(3)  *dd (b) 3N (o)

(4)  FFH (¢) 3N (d)

Options:

61547543517, 1
61547543518 2
61547543519 2
61547543520 4
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Which of the following matters are specified in Schedule IT of Participation of Workers in
Management Bill. 1990°?

(a) Matters relating to operational areas

(b) Matters relating to economic and financial areas
{c) Matters relating to welfare areas

(d) Matters relating to environmental areas

Choose the correct option :
(1) Only (a) and (b)
(2)  Only (b) and (c)
(3)  Only (a). (b) and (d)

(4) (a). (b). (c) and (d)

Options:

61547543521,
61547543522,
61547543523,
61547543524,

[ N I
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615475435211
61547543522, 2

B1547543523. 3
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Which of the following strikes are categorized as ‘strikes based on generic purposes™

(a) Sympathetic strikes
(b) Jurisdictional strikes
(e) Political strikes

(d) General strikes

Choose the correct option :

(1) (a) and (b) only
(2) (a). (b) and (c) only
(3) (b). (c) and (d) only

(4)  (a). (b) (c) and (d)

Options:

61547543525 1
61547543526 2
E1547543527. 2
61547542528, 4
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61547543525
61547543526,
61547543527,
61547543528,
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The following were some of the developments that took place in the trade union movement 1n
India. Arrange the same 1n the correct sequence starting from the earliest to the latest.
(a) Formation of National Front of Indian Trade Unions

(b) Formation of Bharativa Mazdoor Sangh

(c) Formation of Centre of Indian Trade Unions

(d) Formation of Indian Federation of Labour

Choose the correct option :

(1) (a). (b). (c). (d)

(2)  (d). (). (@). ()

(3) (b). (c). (d). (@)

4 (o). (a). ®). @

Options:

61547543529, 1
61547543520 2
£1547543531. 2
61547542522, 4
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Correct Marks: 2 Wrong Marks: 0
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Options:
£15475423529 1

E1547543530. 2
51547543521, 3
61547543532, 4
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Arrange 1n a sequence, the following legislations in the order of vears in which those were
enacted from the latest to the earliest.

(a) The Mines Act

(b) The Plantation Labour Act

(c) The Beedi and Cigar Workers (conditions of Employment) Act

(d) The Factories Act

Choose the correct option from the following :

(L) (& (b {). (d)
(2)  (b). (). (d). (c)
(3) (c). (a). (b). (d)
(4 (d). (). (b). (@)

Options:

615475435531
61547542524, 2
61547543535 5
61547543536 4

Question Number : 109 Question Id : 61547511165 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1)  (a). (). (c). (d)
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Options:

61547543533, 1
61547543534 2
61547543535 2
1547543536 4
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Chronologically arrange the following Chapters. which were inserted in the Industrial
Disputes Act, 1947 by way of amendments starting from the earliest to the latest?

(a) Chapter IT A

(b) Chapter II B

(c) Chapter VA

(d) Chapter VB

Choose the right option from the following :

(1) (@ (b). (c). (d)
(2) (o). (a). (d). (b)
(3) (). (d). (). (e)
(4  (a). (). (d). (b)

Options:

61547543537, 1
61547543538, 2
61547543539 2
61547543540 4
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Correct Marks: 2 Wrong Marks: 0
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Options:

61547543537, 1
61547543538 2
61547542529, 5
61547542540 4
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Under the provisions of the Mines Act, 1952 an owner or agent of a mine 1s required to
provide which of the following facilities for the persons employved in the mine?

(a) Drinking water

(h) Conservancy

(c) Medical applhiances

(d) Recreation facilities

Choose the correct option from the following :

(1)  (a). (b) and (d) only
(2) (a). (¢) and (d) only
(3) (a). (b) and (c) only

(4) (b). (c) and (d) only

Options:

61547543541 1
61547542542 2
61547542542 5
61547543544 4

Question Number : 111 Question 1d : 61547511167 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
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Options:
615475425411

E1547543542. 2
51547543543, 3
51547543544, 4
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Which of the following are considered to be the Principles of Labour Legislation?
(a) Principle of Protection

(b) Principle of Social Justice

(c) Principle of Welfare

(d) Principle of Reasonable Standard of Living

Choose the correct option from the following :

(1) (a). (b) and (d) only
(2) (b). (c) and (d) only
(3) (a). (b) and (c) only

(4) (a). (c¢) and (d) only

Options:

61547543545, 1
61547543546 2
61547543547 o
615475435458 4

Question Number : 112 Question 1d : 61547511168 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
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Options:
E1547542545

E1547543546,
B1547543547.
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There exist certain essential elements of Social Insurance. Which amongst the following are
NOT elements of Social Insurance?

(a) Compulsory participation

(b) Contributory finance

(c) No governmental sponsorship

(d) Benefits directly related to contribution

Choose the correct option from the following :

(1) (a) and (b)
(2)  (c)and (d)
(3)  (a)and(c)
(4) (b) and (d)

Options:

615475435490, 1
61547543550 2
61547543551 =
61547543552 4
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



g <1 o e ffvem smavas o 2 21 Faferfae 19 9w amfse s o 98 27

(a)  sATEm wearfrE
()  =Eanfl fae
(c) TR WIS = fsi

(d)  HEaP H Hafrd uege ony

Fryferfiaa o 3 o fasrea 93 : -

(1)  (a) 3% (b)
(2) () ()
(3)  (a) 3 (¢

(4)  (b) 3R (d)

Options:

61547543549 1
61547543550 2
61547543551 =2
E1547543552 4
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Which amongst the following are NOT the characters of labour market in India?

{(a) Labour markets lack mobility
(b) Labour markets are perfect markets
(c) Relationship between buver and seller is expected to continue for sometime barring

‘casual labour’ market

(d) Monopoly in labour market no more exists today

Choose the correct option :

(1) (a) and (b)
(2) (c) and (d)
(3) (a) and (c)

(4)  (b)and (d)

Options:

61547543553, 1
61547543554 2
61547543555 =
61547543556 4
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Labour Welfare in the present context is the combination of which two of the following
theories :

(a) The Police Theory

(b) The Philanthropic Theory

(c) The Placating Theory

(d) The Functional Theory

Choose the correct option from the following :

(1) (a) and (b)
(2) {c) and (d)
(3) (a) and (c)

(4) (b) and (d)
Options:
615475435571
61547543558 2
615475435549 =
61547543560, 4
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61547543557, 1
61547543558 2
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Mateh Tast — T with Last — 11 :

List—1I
(Authors)
(a) Douglas C McGregor
(b) Elton Mayo

{cy Herbert A. Simon
(d) Chester Barnard

(1)
(13)
(111)

(1v)

Choose the correct option from those given below :

(1) (a)-(d). (b)-Gv). (¢)-(id). (d)-1)
(2)  (a)-(id). (b)-(iv), (c)-(i1). (d)-(1)
(3) (a)-(1). (b)-(v). (c)-(11). (d)-(111)
@ (@)-0). 0)-(D), (¢)-(i1), (d)-v)

Options:
615475435611

E1547543562. 2
E1547543563. 3
61547543564, 4

Last —II
(Books)
Funetions of the Executive

The New Science of Management
Decision

The Human Side of Enterprise

Human Problems of an Industrial
Crvilization
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(1)  (a)-(1). (b)-(v). (e)-(111), (d)-(1)
(2)  (@)-(u) (b)-(v). (¢)-), (d)-0)
(3)  (a)-(). (0)-Gv), (c)-(a1), (d)-(112)
@) (@-0. ®G)-@). (e)-(n). (d)-av)
Options:
61547543561,
61547543562,

61547543563,
61547543564,
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Mateh List — I with Last — IT

TLast—1 List — II
(Tramming Technigques) (Description)
(a) Skill games (1) Games to test abality to plan ahead
(b) DMirroring (1) Imsight into a given interaction
(c) Strategic Planners (1) Test to develop analytical skills
(dy Monodrama (tv) Training with an external perspective

Choose the correct option from those given below :
(1) (a)-(1). (b)-(11), (c)-(111), (d)-(iv)
(2) (a)-(1v). (b)-(111). (c)-(11), (d)-(1)
(3)  (a)-(i). (b)-(Gid), (©)-(v), (d)-()
(4) (a)-(1), (b)-(1v), (¢)-(1). (d)-(11)
Options:
E1547545565. 1
E154754=2566. 2

E1547543567. 3
51547543568, 4
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(L) @-0. (b)-1). ©-(1). (d)-av)
(2 @-av). (b)-(1). (e)-(). (d)-Q)
(3)  (@)-a). (b)-Gw). (¢)-(v), (d)-@1)
(4)  (@)-(u). (b)-av). (e)-(2). (d)-(m)

Options:

£1547543565,
£1547543566,
61547543567,
61547543568,

[
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Matech List — I with Last — 1T

List—1I Last —1II
(Performance Appraisal Methods) (Description)
(a) Alternation Ranking Method (1)  An appraisal method that aims at

combining the benefits of narrative
critical 1ncidents and quantified
ratings by anchoring a quantified scale
with specific narrative examples of
zood and poor performance

(b) Paired Comparison Method (11) Keeping a record of uncommonly good
or undesirable examples of an
emplovee’s work related behawviour
and reviewing 1t with the employee at
predetermined times

(c) Behaviourallv—anchored rating Method (11) Ranlking gm{)lo}fees_ from best to worst
on a particular trait. choosing highest.
then lowest. until all are ranked

(d) Critical Incident Method (iv) Ranking em;.i;lﬂyee;s by making a chart
of all possible pairs of the employees
for each trait and indicating which 1s
the better employee of the pair

Choose the correct option from those given below :
(1) (a)-(1i1), (b)-(iv). (e)-(1). (d)-(1)
(Z) (a)-(11). (B)-(1). (c)-(111), (d)-(v)
(3)  (@)-w). (b)-(n). (e)-(11), (d)-()
(4 (a)-(1). (b)-Gu), (c)-(v). (d)-(1)
Options:
61547543569, 1
61547543570, 2
61547543571 3
61547543572, 4

Question Number : 118 Question Id : 61547511174 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) (a)-(1). (b)-Gv), (c)-(2). (d)-(1)
2 (@)-@). (b)-(). (e)-(i11), (d)-Gv)
(3)  (@)-(v). (b)-(i11). (c)-(). (d)-()
(4 (a)-). (b)-(i2), (e)-av), (d)-(1)
Options:
61547543569, 1
61547543570, 2
61547543571, 3
61547543572 4

Question Number : 119 Question Id : 61547511175 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Adler and Ghadar in their approach of internationalization of HRM activities have 1dentified
four phases which are given in List-I and the purpose that 1s served in each phase given 1n
Last II.

Last I Last IT
(Phases) (Purpose)
(a) Domestic (1)  Career and organmizational development
(b) International (11) Project and career development
(¢} Multinational (1) Project to get job done
(d) Global (iv) Reward

Select the alternative from the options given below. giving the correct match between the
phases and purpose :

(1)  (a)-av). (b)-(11). (e)-(11). (d)-Q)
(2) (a)-(1). (b)-(11). (c)-(111), (d)-(1v)
(3) (a)-(11). (b)-(v). (c)-(1). (d)-(11)
@ (a)-Gi). (b)-(). (e)-(iv), (d)-(iii)

Options:

61547543573 1
61547543574 2
61547543575 2
61547543576, 4

Question Number : 119 Question Id : 61547511175 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) (@-av). (b)-(11). (c)-(11), (d)-(1)
2 (@-@. (b)-(1). ()-(1), (d)-(1v)
(3)  (a)-(m), (b)-(v). (¢)-(). (d)-(x)
(4) (a)-(11). (b)-(). ()-(1v). (d)-(1m)

Options:

£1547543573. 1

E1547543574 2

E1547543575. 3
B1547543576. 4

Question Number : 120 Question Id : 61547511176 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



The three learning outcomes are given in lList-I. and the aspects covered under them In
Last-II.

List I Last IT
(Learning outcomes) (Aspects Covered)
(a) Cognitive (1) Knowledge organization
(b) Skill based (1) Compilation
(c) Affective (1) Attitudinal

Choose the alternative., from the options given below, which gives the right match between
Last-I and Last-II

(1) (a)-@). (b)-(1). (c)-(11)
(2)  (a)-(). (b)-(u). (c)-(11)
(3) (a)-(11). (b)-(111), (c)-(1)
(4) (a)-(1). (b)-(i1). (c)-(111)

Options:

61547543577, 1
61547543578 2
E1547543579 2
615475423550, 4

Question Number : 120 Question Id : 61547511176 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) (@-G1). ®)-1). (c)-(111)
(2)  (a)-(). (b)-(11). (c)-(11)
(3)  (a)-(). (b)-(m). (c)-()
(4 (2)-@). (b)-GD). (c)-(111)

Options:

61547543577, 1
61547543578 2
61547543579 2
61547543580 4

Question Number : 121 Question 1d : 61547511177 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are three types of competencies 1n List-1. and their characteristics in List-II

List I List II
(Competencies) (Characteristics)
(a) Universal competency (1) Competencies refer to specialized

know-how or abilities required within
a specific role
(b) Transferrable competency (1) Competencies emphasize that all the
emplovees of an organization must
reflect the companv's value, culture
and business imperatives
(c) Unigue competency (m) Competencies include skills and
abilities needed to perform several
roles 1n varyving degrees of importance
and magtery
Choose the correct alternative, from the options given below, which gives the right match
between the competencies and the characteristics
(1) (@)-). (b)-(1). (e)-(ii1)
(2)  (a)-(1). (b)-(1), (¢)-(11)
(3) (2)-(1). (b)-(11d). (¢)-(11)
(4) (a)-(11). (b)-(111). (c)-(1)
Options:
61547543551, 1
1547542552 2
61547542553 2
61547543584, 4

Question Number : 121 Question Id : 61547511177 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1 (-, (b)-(1). (c)-(111)
(2)  (a)-au). (b)-(1). (c)-()
(3 (a)-. (b)-(111). (c)-(11)
4)  (2)-a1). (b)-(1). ()-@)

Options:

61547543581, 1
61547543582, 2
61547542582 o
61547543584 4

Question Number : 122 Question Id : 61547511178 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are the names of scholars in List-I. and the approaches to industrial relations

with which theyv are associated in Last-II

Last I List 11
(Scholars) {Approaches to Industrial Relations)
(a) John R. Commons (1) Industrmal Sociclogy Approach
(by Elton Mayo (1) Oxford Approach
{c) Allan Flanders (1) Human Relations Approach
(d) G. Margerizon (1v) Economie Approach

Match List-I with List-II. and choose the correct match from the options given below :

(1) (a)-(av). (b)-(i11). (¢)-(11). (d)-(1)
@  (a)-(ii). (b)-v). (¢)-G). (d)-(ii)
B (@)-(i). B)-G). (©)-(iv), (d)-(iii)
@  (@-@). ®)-G). (©)-(ii). (@)-Gv)

Options:
615475435551

E1547543586. 2
E1547543587. 3
61547543588, 4

Question Number : 122 Question Id : 61547511178 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) (a)-(0v). (b)-(111). (e)-(i1), (d)-()
(2)  (a)-(11). (b)-v). (e)-(2). (d)-(1)
(3) (a)-(11). (b)-(1). (c)-(v), (d)-(1)
4 (@-0). (b)-(). (e)-(111), (d)-(1v)

Options:

61547543585, 1
61547543586 2
E1547543587. 2
61547542588, 4

Question Number : 123 Question Id : 61547511179 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are some of the provisions laid down under the Factoriest Act, 1948 in List-1. and
number of workers that should be working in a factory given in List II for providing those
facilities.

List I List IT
(Provisions) (Number of workers)
(a) Cool drinking water (1)  More than one hundred fifty
(b) Welfare Officer (1) One thousand or more
{c) Shelter Room (111) Five hundred or more
(d) Safety Officer (iv) More than two hundred fifty

Find the correct match between List-I and List-II from the options given below :
(1) (a)-(111), (b)-(11), (e)-(1v), (d)-(1)
(2) (a)-(11). (b)-(1). (¢)-(111), (d)-(v)
(3) (a)-(iv). (b)-(111), (c)-(1). (d)-(i1)
(4) (a)-(1). (b)-(1v), (c)-(11). (d)-(111)
Options:
1547542559 1
615475425490, 2

E15475435391. 3
51547543592, 4

Question Number : 123 Question Id : 61547511179 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1)  (a)-(11), (b)-(1). (e)-(iv), (d)-(1)
(2)  (a)-(). (b)-(). (e)-(111). (d)-(1w)
(3) (a)-(1), (b)-(111), (c)-(1). (d)-(1)
4 (@-@). B)-av). (¢)-(). (d)-(n)
Options:
51547543589,
61547543590,

61547543591,
615475435392,

[ N

Question Number : 124 Question Id : 61547511180 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List I with List IT

Last I Last II
(Forms of knowledge) (Description)
(a) Shallow knowledge (1) Information that i1s directly related to
context
(b) Procedural knowledge (11) Information that some individuals are

not aware of what they know

(c) Casual knowledge (1) Information that finds cause-effect
relationship
(d) Specific knowledge (iv) Information that tells people why

something occurs

Choose the correct option from those given below :

L (@-Q). (b)-(). (e)-(11), (d)-av)
2)  (@-G). (b)-(id), (0)-(iv), (d)-@)
(3 (@-av). (b)-(iD). (0)-0). (d)-()
4 (@-(). (b)-(). (e)-Gii). (d)-Gv)

Options:

51547543593 1
E1547543594 2
61547543595 o
61547543596 4

Question Number : 124 Question Id : 61547511180 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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1) (@)-(). (b)-(). (o)-(11d), (d)-v)
2  (a)-Gi). (b)-(1), (e)-Gv), (d)-0)
(3} (@-(v). (b)-(11). (c)-(1). (d)-(1)
4 (@)-. (b)-Q@. (o)-(11d). (d)-v)

Options:

£1547543593. 1

61547543594 2

61547543585, 3
61547543556, 4

Question Number : 125 Question Id : 61547511181 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Match the themes relating to the definition of labour welfare given in List-I with the
scholars/institutions who have put forward the themes given in List-II

ListI Liat I1
(Themes) (Scholars/Institutions)
(a) Attitude of mind (1) A.J. Todd
(b) Improvement in existing industrial (1) Encyelopaedia of Social Sciences

system

(c) Voluntary efforts beyond what is (1) R.R. Hopkins
required by law

(d) Comfort and 1mprovement in (1v) E.S. Proud
intellectual and social state

Choose the correct option from those given below :

(1)  (a)-@). (b)-@1). (c)-(Av). (d)-(1)
(2) (a)-(1). (b)-(1v). (c)-(11), (d)-(111)
(3)  (a)-G1). (b)-(v). (¢)-(11), (d)-(1)
(4) (a)-(111). (b)-(1). (e)-(1v), (d)-(1)

Options:

£1547543597. 1
61547543598, 2
615475423599, 5
61547543600, 4

Question Number : 125 Question Id : 61547511181 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) (@)-(). (b)-(1). (c)-(v). (d)-(10)
(2)  (a)-(. (B)-(v). (c)-(11), (d)-(111)
(3)  (a)-(1). (b)-av). (¢)-(1), (d)-()
4)  (2)-(u), (b)-(11), (e)-(iv), (d)-()

Options:

61547543597, 1

61547543598 2

61547543599, 3
E1547543600. 4

Question Number : 126 Question Id : 61547511182 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Arrange the following elements of the process of interpersonal communication In seguential
order :

(a) the message

(k) the channel

(c) feedback

(d) the sender

(e) the receiver

(H the encoding

(g0  the decoding

Choose the correct option from the following :

(1)  (d). (D. (a). (b). (g). (e) and (c)
(2)  (a). (d). (). (g). (b). (c) and ()
(3)  (a). (). (d). (D, (e). (c) and (g)
(4)  (b). (a). (). (d). (D). (g) and (e)

Options:

51547543601, 1
61547543602, 2
61547543603 2
£1547542604, 4

Question Number : 126 Question Id : 61547511182 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



sedaa e quyv o fefafiaa sraadi = wd s d safer fifa

(a)  He9 (dfEE)

(b) =y (<)

(¢  uiagfee (Freas)
(d)  UuE (H=)

(e)  ihamfes (fedier)
(6w (I

(g)  Tdehem (Fesifen)
feyferfaa § 9 w2 fawey = =9 Fifem .

D @.®. @ ®). (@. (e 3 ()
@ @@, @) (. ®). @ AH
3) (@, {). (@.®. (). © 3 (g
@ (b). (@. ©. @. O. (& 3 (e)

Options:

61547542601 1
61547542602, 2
61547543603 =
61547543604, 4

Question Number : 127 Question 1d : 61547511183 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
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Syvstematically arrange the five step process of human resource planning given below and
choose the correct option :

(a) Forecast of perzonnel needs and supply

(b) HR Programming

(c) Defining Organisational Objectives and Policies
(d) HRP Implementation

{e) Control and evaluation of programmes

Choose the correct option from the following :

(1) (). (). (). (d). (e)
(2) (b). (a), (e), (d). (e)
(3)  (z) (b). (a). (d). (&)
(4) (e (a). (b). (d). (&)

Options:

51547543605, 1
61547543606, 2
61547543607, 2
61547542608, 4

Question Number : 127 Question Id : 61547511183 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) (@) (b). (). (d). (e)
(2 (). (a). (c). (d). (e)
(3 (©. (b). (@). (d). (e)
(4) (o). (a). (b). (d). (e)

Options:

61547543605, 1
61547542606, 2
61547543607, 2
61547543608, 4

Question Number : 128 Question Id : 61547511184 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Given below are the steps involved in the selection process :

(a) Application Blank

(b) Employment interviews
(c) Physzical Examination
(d) Employment tests

(e) Appointment Letter

(£) Reference checks

Choose the alternative from the options given below mentioning the right sequence of the
steps starting from the beginning :

(1) (@) (d). (c), (b). (). ()
(2)  (@). (b (). (d). (D). (e)
(3) (2. (d). (b). (c). (e). ()
(4)  (a). (d), (b). (D). (e}, (e)

Options:

61547542609 1
61547542610, 2
61547542611, 5
61547543612 4

Question Number : 128 Question Id : 61547511184 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547543609, 1
61547542810 2
1547543811, 2
61547542612, 4

Question Number : 129 Question Id : 61547511185 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Given below are different Committees/Commissions set up in India relating to Labour

(a) First National Commission on Labour
(b) Adarkar Committee
(c) Second National Commission on Labour

(d) Rege Committee

Choose the option which gives chronological sequence of thelr set up starting from the earliest

to the latest :

(1) (b). (d). (a). (c)
(2) (e (b). (d). (a)
(3) (@ (). (b). (d)
(4 (b).(a) (c). (d)

Options:

61547543613, 1
61547542614 2
61547543615 2
61547543616 4

Question Number : 129 Question 1d : 61547511185 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(3) (a). (e). (b). (d)

(4 (b). (a). (c). (d)

Options:

£1547543613.
£15475432614.
61547542615,
61547543616,

o LIRS
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Given below are the various stages of the conflict process

(a) Cognition and personalisation

(b) Interventions

(c) Potential opposition or incompatability
(d) Outcomes

(e) Behaviour

Choose the right option which gives the correct sequence of the stages starting from the

beginning :

(1) (a). (c). (b). (d). (e)
(2)  (b). (8). (). (e). (d)
(3)  (b). (c) (e). (a). (d)
(4) (c). (a). (). (e). (d)

Options:
154754268171

E15475436158. 2
51547543619, 3
61547543620, 4

Question Number : 130 Question 1d : 61547511186 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(1) (@) (). (b). (d). (e)
(2) (b (a). (). (e). (d)
(3) (D). (). (e). (a). (d)
(4)  (e). (a). (b). (e). (d)

Options:

61547543617, 1
61547543618, 2
61547543619 2
E1547543820 4
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are different stages of group formation :

{(a) Storming
(b) Norming
() Adjourning
(d) Forming

(e) Performing

Choose the rmght option which gives the correct sequence of the steps starting from the
beginning :

(1)  (@.(d), (e). (b). (c)
(2)  (d). (a), (b). (e). (c)
(3)  (a) (b), (e), (d). (¢)
(4 (&) (d). (b). (a). ()

Options:
615475426821, 1

E1547543622. 2
B15475436823. 3
61547543624, 4

Question Number : 131 Question 1d : 61547511187 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



11 w1y v o fafie s fanm &)

(a)  xifdm
(b) AT
(e) LEE Bt
(@  wifEn
(e)  TrHITHT

SR H 9% &1 39 =00 o Hel S 9T \@e Fehed &1 =94 il

(1)  (@).(d). (e). (b). (c)
(2)  (d). (a). (b). (e). ()
(3)  (a). (b). (). (d). (c)
(4) (e} (d). (b). (a). (c)

Options:

615475458211
61547545622, 2
61547542622, o
61547543624 4

Question Number : 132 Question Id : 61547511188 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Arrange the following in correct sequence basing on the years in which they came into

force/passed/setup. starting from the earliest to latest :

(a) Board for Industral and Financial Reconstruction
(b) The Second Industrial Truce Resolution
(c) Code of Dizcipline

(d) National Institution for Transforming India Aayvog

Choose the correct option from the following :

(1) (a). (b). (c) and (d)
(2) (c). (b). (a) and (d)
(3)  (b). (c). (a) and (d)
(4)  (d). (a), (c) and (b)

Options:

61547543625, 1
61547543626 2
E15475436827. 2
1547543828 4

Question Number : 132 Question Id : 61547511188 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



arefas § sgiHswan %y 4 qefafaa & any 26 /ofa #4029 % 9l % wgR W Ed e d
sxafees e .-

(a)  sfrefiver oiv faeim gfaa @

(b)  TefTa sfienier |fe wearE

(€ AR Hfed

) T s said deens s (ifd i)
fpyferfiaa 1 4 ot fasen =1 =9 fifsw .-

(1) (@), (b). (c) 3 (d)
(2)  (©. (). (a) F (d)
(3) (). (0. (a) W (d)
@) (d). (a). (c) I (b)
Options:
15475423625
L1E47E4202E,

E1547543627.
E1547543625.

o IR

Question Number : 133 Question Id : 61547511189 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Arrange the following in a correct sequence basing on the wyears of their formation, starting

from the earliest to the latest :

(a) Federation of Indian Chamber of Commerce and Industry
(b) Associated Chamber of Commerce
(c) Emplovers’ Federation of India

(d) All India Organisation of Industrial Emplovers

Choose the correct option from the following :

(L) (@), (b). (). (d)
(2)  (b) (c). (d). ()
(3) (b). (a). (d). (c)
4y  (@).(c). (b). (d)

Options:

61547543629, 1
61547543630 2
61547543631 2
615475426832 4

Question Number : 133 Question Id : 61547511189 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



fferfian & vifaa 2H o ad & stam woarigan 3 soygfaean & w9l sgg U srafea fifeo -
(a)  WEATE ATt S s T afEs

(b)  UHIRUZE =t S

(©  goeArfis e i dfen

(dy  wHfiger wedta senfrer B g | (e ghen smiErgse s gediad )

freaferfiaa 4 @ w& faswon =1 = i -

(1) (@), b). (). (d)
(2)  (b). (e). (d). (a)
(3) (). (a).(d).
4 (@) (©). (M), (d)

Options:
E1547542629. 1

E1547543630. 2
61547543631, 3
61547543632, 4

Question Number : 134 Question Id ; 61547511190 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Arrange 1n a proper sequence the authorities mentioned in the Industrial Disputes Act, 1947

in resolving grievances or disputes of workmen, starting from the beginning :

(a) Labour court
(b) Grievance Redressal Machinery

(c) Coneciliation Officer

Choose the correct option from the following :

(1) (a). (b). (c)
(2)  (b). (a). (¢)
(3) (c). (h). (a)
(4) (b). (c). (a)

Options:

61547543633, 1
61547543634 2
61547543635 2
615475426836 4

Question Number : 134 Question 1d : 61547511190 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



FHaR 1 Toerraal sgan fEanEl &1 awa #09 & Tan s fqae stafan, 1947 9 afifa Fafataa

TR 1 ST H 96 % 50 de 1 Sig@H H sgafeerd Fifs ;

(a) o9 =AM
(b)  TorrrEa fHamoy wefi=d

(¢ gz sfawr

Fpeferfiaa o wd T o =a9 Fifsu

(1) (a). (b). (c)
(£) (b). (a). (c)
(3) (c). (b). (a)

(4) (b). (c). (a)

Options:

61547543633, 1
61547543634 2
61547543635 2
61547542636 4

Question Number : 135 Question Id : 61547511191 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The Government of India has ratified few conventions of ILO relating to child labour. Arrange
the conventions in a sequence from the earliest to the latest as per the vears of their adoption
by ILO :

(a) Night work of Young Persons (Industry) Convention

(b) Medical Examination of Young Persons (Sea) Convention

(c) Night Work of Young Persons (Industry) Convention (Revised)

(d) Minimum Age (Underground Work) Convention

Choose the correct option from the following :

(1) (@) (b). (c) and (d)
(2)  (b). (c). (d) and (a)
(3)  (d). (o). (b) and (a)
(4)  (a). (c). (d) and (b)

Options:

615475426571
61547542628, 2
61547542629, 5
61547543640 4

Question Number : 135 Question Id : 61547511191 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



AW HTHE A 76 99 o daie U 3978 Ut 341 o e siaem 1 g g 4 ) feferfea sshaoeai #6 sE va
H1 5T i feb 710 3 o s W e | sndfsdy o %9 O sgatead i ;

(a) Az ad wHiE 90 i (f2E) 5

(b)  Hfzeer vesfisger s @0 v () w914

(¢) A2 dHh e 2 wH= (=) e (framgss)

(d)  fafqum o (seanss 94) F99H
Treyforfiaa | 4w Tagey =1 == Fifs .

1) (@. (b). (0 3 (@)

(2) (). (). (d) 3N (a)

(3) (@) (c). (b) 3 (a)
(4) (@) (0. (d) 3 (b)

Options:

£1547543637. 1
61547542628, 2
61547542629, 5
61547543640 4

Question Number : 136 Question Id : 61547511192 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Given below are two statements — one 1s labelled as Assertion (A) and the other 1s labelled as

BEeaszon (R) :

Assertion (4): Management development 1s one major way for organizations to lncrease

the chances that managers will be effective.

Reasons (R) : While many have believed that ability to manage was primarily an inborn
gquality, the current view 1s that capabilities required to be an effective

manager can be learned and enhanced

In the light of the above two statements, choose the correct option :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true and (R) 13 not the correct explanation of (A)
(3) (A) 18 true, but (R) 1s false

(4) (A) 1s false. but (R) 1= true

Options:

61547545841 1
61547542642, 2
61547542642 o
61547543644 4

Question Number : 136 Question Id : 61547511192 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



e 1 e Toae 2, Forqd & usk o6 sligsad (A) %l T 2 T 581 6 a9 (R) eI |
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W (R) ; ey wigdl 1 fovara 8 o wee =) s v s 1o e 2, ey adee d gz ae
s e ® T warell e o oo srdfera amen i s oaedl @ vd s sifugfs s
w2

e ST Rl = sretien 1, 1) fase =1 =rgq Fifero

(1) (A) 311 (R) <F1 8l 2 3 (R). (A) I 9 save 2)

(2)  (A) 3R (R) TH1 921 2 37 (R). (A) il 51 =3 34 2

(3) (A=, wiF R) T 2

(4) (A Ter &, o (R) 5 2

Options:

61547543641, 1
615475436542 2
£15475426843 2
61547545644, 4

Question Number : 137 Question Id : 61547511193 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements — one labelled as Assertion (A) and the other 1s labelled as
Reason (R) :

Assertion (A):  In the early stages of internationalization of business orgamzations. 1t was
based on the notion that the logic of industrmalism had a homogenizing
effect upon business organizations, irrespective of the country thev were

located 1n

Reasons (R) : The cultural approach emphasised national differences between the

organisations. differences which have cultural factors at their root.
In the light of the above two statements, choose the correct option :

(1) Both (A) and (R) are false

(2) (A) 18 true and (R) are 1s false
(3) Both (A) and (R) are true

(4) (A) 1s false and (R) 1s true

Options:

61547545845 1
61547542646, 2
61547543647 o
61547543645, 4

Question Number : 137 Question 1d : 61547511193 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



A 21 3o Taur 2, il 3 v o sifirem (A) % 7 2 SR gEl 1 @ (R) Fe1 T 2)
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et +ft 291 1 rafesm 2

% R) : HIER R JIRH A A2 % 39 T s W oae T el sl d aeslas s
W 21

IrdFd 21 AT = el 4, 98 fasen T fifta

(1) (A) 3R (R) 7H1 T B
(2)  (A) & 8 3R (R) 7Tefd 2
(3) (A ®) IFTEA R
(4 (A) T 2 3R (R) 58 2

Options:

51547543645, 1
61547543646, 2
61547543647 2
15475426848 4

Question Number : 138 Question Id : 61547511194 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements — one labelled as Assertion (A) and the other labelled as

EBeaszon (R) :

Assertion (A) : Trade Unionism in India. as in most other countries. has been the natural
outcome of modern factory system

Reasons (R) : In order to counter exploitation, efforts towards organizing the workers for

safe-guarding their legitimate position were made by the unions

In the light of the above two statements, choose the correct option :

(1) Both (A) and (R) are true. and (R) 1s not the correct explanation of (A)
(2) Both (A) and (R) are true. and (R) 1s the correct explanation of (A)
(3) (A) 13 true, but (R) 1z false

(4) (A) 1s false, but (R) 18 true

Options:

615475436490, 1
61547542650 2
61547543651, =
61547543652 4

Question Number : 138 Question 1d : 61547511194 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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TP 1 YA F HATEF °, 921 faheq 1 954 Hif ;

(1) (A) 3 (R) 501 881 2 317 (R). (A) ! 5 =9 78 2|
(2) (A 3R (R) 91 HE @ 30 (R). (A) F 98 =4rE 2
(3)  (A)wd 2, W (R) Tewd 2

(49 (A)7Ted 2, W R)HE 2

Options:

615475436490, 1
61547542650 2
61547543651, =
61547543652 4

Question Number : 139 Question 1d : 61547511195 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements — one 1s labelled as Assertion (A) and the other i1s labelled as
Reason (R) :

Assertion (A):  Industral relations constitute one of the most delicate and complex
problems of modern industrial society, which 1s characterized by rapid
change, industral unrest and conflicting ideologies in the national and
international spheres

Reasons (R) : It 1s a dynamic concept which depends upon the pattern of society.
economic system and political set-up of a country and changes with the
changing economic and social order

In the light of the above two statements, choose the correct option :

(1) Both (A) and (R) are true. and (R) 1s the correct explanation of (A)

(2) Both (A) and (R) are true. and (R) 1s not the correct explanation of (A)
(3) (A) 15 true. but (R) 1s false

(4) (A) 1s false. but (R) 1s true

Options:

61547543653, 1
61547543654 2
61547543655 =2
615475426856 4

Question Number : 139 Question Id : 61547511195 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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() (A) ¥/ (R) 5H #4812 3 (R). (A) | @1 =1 2

(2)  (A) 3R (R) aH1 981 & 310 (R). (A) il Hel =3 34 2
(3) (A w2, elfFd R) e 21

(4)  (A) 7T &, ol (R) |56 21

Options:

61547543653, 1
61547543654 2
61547543655 =2
615475426856 4

Question Number : 140 Question Id : 61547511196 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Two statements namely Assertion (A) and Reason (R) are given below :

Assertion (4):  Labour welfare implies the setting up of minimum desirable standards and

the provision of facilities

Eeasons (R) : Such facilities enable the worker and hisher family to lead a good work.
family and social life.

In the light of the above two statements, choose the correct option :

(1) Both (A) and (R) are true. and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true. and (R) 1z not the correct explanation of (4)
(3) (A) 1s true, but (R) 1s false

(4) (A) 1s false. but (R) 12 true



Options:

61547543657, 1
61547542858 2
1547543859 =2
61547542660, 4

Question Number : 140 Question Id : 61547511196 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

11 g1 oA fou oo 2, T & s sifigsed (A) 2 simgsn @6 (R) )

AfTFIE (A) ; A9 FedIV] 1 ANYE =g HUle gHES il SO FE a9l g w1 TEaE
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@ (R) : U gfaam afie aun 376 URER 1 S F A, sredl it o drises shae

=8 Herd Fdl 2 )
3udaa aH1 FeH1 o ATl 0, T [ehea =1 =5 Fifem

(1) (A 31 (R) =141 51 2 3 (R). (A) i | sz 2|
(2)  (A) 3R R) aH HE 2 3 (R), (A) F 9 s 99 2
(3) (A #d e, dfFE (R) T 2

(4)  (A) e g, kA (R) 9821

Options:
61547542657 1

E1547543658. 2
61547543659, 3
61547543660, 4

Sub-Section Number: 2
Sub-Section 1d: 615475482
Question Shuffling Allowed : Yes

Question Id : 61547511197 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Juestion Label - Comprehension



Eead the passage carefully and answer the questions

“A principal fruit of friendship”. Francis Bacon wrote in his timeless meditation on the
subject 1s the case and discharge of the fullness and swellings of the heart. which passions of
all kinds do cause and induce’. For Thoreau. friendship was one of life’s great rewards. But in
today's cultural landscape of muddled relationship scattered across various platforms for
connecting, amid constant debates about whether our Facebook ‘friendships’ are making us
more or less happy. it pays to consider what friendship actually 1= : That's precisely what
‘CUNY" Philosophy Professor Massimo Pigliucel explores in answers for Armstotle : How
science and philosophy can lead us to a more meaningful life, which also gave us thiz
provocative read on science of what we call ‘intuition’.

Philosophers and cognitive scientists agree that friendship 1s an essential ingredient of
human happiness. But bevond the dry academic defimitions — lhike, say. ‘voluntary
interdependence between two persons overtime, which 18 intended to facilitate soclo-
emotional goals of the participants, and may involve varving types and degrees of
compamonship, intimacy, affection and mutual assistance’ — lhes a body of compelling
research that sheds light on how. precisely. friendship augments happiness.

The way friendship enhances well-being, it turns out, has nothing to do with quantity and
evervthing to do with quality — researchers confirm that it 1s not the number of friends or, In
case of Facebook, frmendships’.

Sub questions

Question Number : 141 Question Id : 61547511198 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one change effected 1in the present situation hassled to a re-thinking of the concept of
friendship?

(1) Bacon and Thoreau’s Theories

(2) The arrival of social media on the scene

(3) There 1s more interest In sclence

(4) Friendships are not possible in the real world anymore due to over-competition
Options:

61547543661, 1
E1547543662. 2
E1547543663. 3
61547543664, 4

Question Number : 142 Question 1d : 61547511199 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Whether the wviews expressed 1n the passage advocate that friendship 1= an essential
component of well-being? Choose the correct option :

(1) Researches have proved that friendship does lead to happiness

(2) There exists no relationship between passage and happiness

(3) Friends cannot make each other happy

(4) One needs to find one’s happiness alone with peace of mind
Options:

61547543665, 1
61547543666, 2
E1547543667. 3
E1547543665. 4

Question Number : 143 Question Id : 61547511200 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following 1s true 1in the context of Pighucet's books?
(1) Pigliucel's book discusses science only
(2) The book explains science and philosophy only
(3) The book discusses Aristotle’s theories only
{4) Piglhiucei’s book discusses ‘intuition’.
Options:
61547543669, 1
61547542670, 2

B1547543671. 3
B1547543672. 4

Question Number : 144 Question 1d : 61547511201 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In the context of the passage, which of the following is true about friendship?

(1) It 1g important to have quantity of friends
(2) What 1s important 1s comments on soclal media, not quality of friends
(3) What 1s important i1s quality of friends
(4) Quality automatically comes with quantity
Options:

61547543673, 1
615475436874, 2



E1547543675. 3
B1547543676. 4

Question Number : 145 Question Id : 61547511202 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

What 1s being debated according to the content given in the first paragraph? Choose the

correct option.

(1) The debate 1z centred around whether our facebook friends are helping us become

more or leag happy.

(2) There are no debates.

(3) The guality of comments on social media 1= debated.

(4) It 1s debated that Thoreau's and Aristotle’s thinking are at loggerheads.

Options:

1547543677, 1
61547542678, 2
61547543679 2
615475436380 4

Question Id : 61547511197 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Juestion Label @ Comprehension
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Sub questions

Question Number : 141 Question Id : 61547511198 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

et withefa 4 freaforfiaa 4 4 g aiada 3 fogan =i sraaro 92 gfd=m 3 foro sne e ?

(1) =4 30 9% & g
(2y  Hrere itz w5 gan siem O wnige 29
(3)  Tosm o sfers v

(4)  sreafires vaul & o anafasr sm 1§ fiem Gaa 986 w2

Options:

£1547543661. 1
E15475438E82. 2
61547542662, o
61547542664, 4

Question Number : 142 Question Id : 61547511199 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

51547543665,
61547543666,
61547543667,
£1547543668.

[ N

Question Number : 143 Question Id : 61547511200 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
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Question Number : 145 Question Id : 61547511202 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
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Question Id : 61547511203 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
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Question Numbers: (146 to 150)
Cuesticon Label | Comprehension

Read the passage carefully and answer the questions that follow :

The International Cricket Council (ICC) announced that the then Pepsico Chairman and
CEQO Indra Noovi has been appointed to the ICC Board as the organisations’ first
independent female Director. Mrs. Nooyi joined the Board in June 2018 to align with the
term of ICC Independent Chairman, following the Unanimous confirmation of her

appointment at Board's meeting.

The introduction of an independent Director. who must be female, was approved by the ICC
full council in June 2017 as part of wide ranging constitutional change aimed at improving

the global governance of the sport.

Mprs. Nooyi 1s a global business leader. consistently ranked by Fortune Magazine among the
world’s most powerful women. As Chairman and CEO of Pepsico, Mrs. Noovi was responsible
for a global food and beverage portfolic that includes 22 brands generating more than
$ 1 billion each 1in annual retail sales. including Quaker. Tropicana. Gatorade. Frito-lay and
Pepsi cola. Mrs. Noov1 1= also the chief architect of performance with purpose. Pepsico’s vision
to deliver top tier financial performance over the long term by integrating sustainahility into
company's business strategy. Under her leadership, since 2006 Pepsico has focused on
offering more nutrious food and beverages, minimizing thelr impact on the environment and
creating opportunities for their employees and people across the markets they serve.

ICC Chairman Shashank Manohar said : “We are delighted to welcome Indra to ICC. Adding
another independent director. particularly a female, 1s such an important step forward in
1mproving our governance. To have someone of Indra’s calibre is fantastic news for the global
game. She 1s frequently recognized as one of the most important and influential people 1n
business today. running one of the world's biggest corporations”. “We undertook a global
search looking for the rmght candidate who would complement the existing skills and
experience already on our Board. A cricket enthusiast with experience in the commerecial
sector and independent of ICC, any member or state or assoclated organization were the
primary criteria and in Indra. we have found an exceptional new colleague and we look

forward to working with her in future”.

The independent director will be appointed for a two-vear term although she may be

re-appointed for two further terms with maximum six vear consecutive period of service.

In accordance with international standards of good governance, the Independent Ethics
Officer for the ICC and Pepsico’s General Counsel have reviewed and both formally approved
the appointment. providing a clear framework for appropriately managing any potential or

perceived conflicts of interest that might arise 1n the future.



Sub questions

Question Number : 146 Question Id : 61547511204 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which amongst the following 1s true in the context of the passage?

(1) Indra Nooyi 1s the first female chairman of International Cricket Council
(2) She may be re-appointed for two further terms resulting in nine vears of total service
(3) She may be re-appointed for two further terms with a maximum s1xX vears consecutive

period of service

(4) Indra Noovi 1s ranked number one in the list of most powerful woman by Fortune
Magazine

Options:
£1547543651. 1

E1547543682. 2
E1547543683. 3
E1547543684. 4

Question Number : 147 Question Id : 61547511205 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
What does the writer want to convey by saving Mrs. Nooyl 1s also the chief architect of
performance with purpose™?

(1) Mrs. Nooyl has started objective based planning in Pepsico
(2) Mrs. Nooyl has driven the concept of corporate social responsibility
{3 Mrs. Nooyl does not want to make profit at the cost of consumer’s health

(4) With her vast expernence of leadership, Mrs. Noovi's induction in ICC will improve its
global performance
Options:
1547542685 1
61547542656 2
E15475426887. 2
15475426858, 4

Question Number : 148 Question Id : 61547511206 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



What was the purpose of introducing female independent director in International Cricket

Council?

(1) To 1mprove global governance of the sport
(2) To prove that women are better than men
(3) To set an example of gender equality

(4) To fulfill the requirement of constitutional change

Options:

51547543689, 1
61547543690 2
61547543691, 2
154754236392 4

Question Number : 149 Question Id : 61547511207 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which amongst the following confirmed the appointment of Indra Noovi?

(1) Board of International Cricket Council
(2) General Council of Pepsico

(3) Independent Ethies Officer of ICC

(4) Chairman of ICC

Options:

61547543693, 1
61547543694 2
61547543695 2
61547543696 4

Question Number : 150 Question 1d : 61547511208 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which among the following 18 NOT true in the context of the passage?

(1)

(2)

(3)

(4)

Options:

Quaker 1s a product of Pepsico

Mrz. Noovi headed over 22 food and beverage brands under the flagship of Pepsico

In order to earn more profit. Pepsico 1gnores the environment

Mrs. Nooy1 was elected unanimously as the Director of ICC

61547543657, 1
615475436358, 2
615475436399, 3
61547543700, 4
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= ferfiaa Ty =1 saEE Tigu sit 9 20 e 9 (9.46.96-100) * I g1

AR Tohche aftas (o9 €1 €)= = o aesrefia Tefisn =iy awn # ¢ o shen 42 w1 s A i ad
i e 3as wfeen FHawrs Fya fo w2

drE #1 da d dindl 42 A1 HgfEa 6 wdeara g fey s % geErd g @ 6% ey o
HFHR 97 S 201 8 1 9S4 wnfuet 281 Werge & Afver raa § s g9 gam 3599 4 3 i A
ud aives 4 g2 uEA R T o Rk e e o s feedt afzen = & s =fau)

sfregell 13 v Aaeh sgaEE da1 2 3 BEA Wrefa 9 s fava ) watios sifemne afzensd § enmman
yiifget T 21 ufdent <1 <l don €1 € o0 o w9 0 oftadl 92 30 dfvas ara ag 31 gidwio & foe
IavarEl off Ty 22 o wnifuet € 2 o e, 21, 1eie, Hid-o a9 Iodl e snige 2 R 39 9
gedsh § 1 Taforas & sy anfie wen e o e = Foi & 21 oimdi 32 s i S sr-an
Hifc T e 1 wmiEe 7 38 e fad fees g g8 & Ui % w0 F A FH % 3547
1 A ] o g o i 21 3k e | a3 ad 2006 9 sl difes Gree a9 1 gaE e
FRE THEW G IHE 9 %] 2AAE A U HHE FTEE § i S S aen o 6 fom staar
fomion #eq W me fem 21

TS i+ <= BT GAE A ke TS 1l 1 3 o s e 5 Y sreds s 2 2
us 3w Hevrk, fagme ufeen fdvrn, =0 nfist T st saf s | g ) feon O us weea
#ed 2| 3 - Aram At =afF w1 e S v Ja & oo ok v geEe s w2 | we
3% SYFHM % HAiHE HEeE ol a9 G9EIed sutad o w9 § 9 oS @ a9 9 fava ) wen o wraiee
el 1A 21 eee v bl wd wafigan o Afvaes wis o o eun dE U fagaes wiere adn sH9e 6w EE g
A ANTETHE & Fek | 9 U WHEE g7 o {6 ae safad ffhe | €l qw sarednia s a9 0 s E TEd gl ad
AR H H A e TRl oeg sy Hafn @ed o Hee 2 dR S vk UHl ssnen o1 33 deskd] 2 e
1a 78 AW afasy 4 we w5 =9 d)

e i o) Frgfae 3 od ) SRR, qonfy 21 sl warafa % fo yafafi ) sn werdt 21 siw sifrsram
IR @ a¥ o Jea1 el o foe Bl i o gedi 21 gure & sraards o & Sgan o 9 F
A HETER S a9 Ufen o S H3Ee A =l o afian s w9 9 sgded g
e wiasa § gea= 2 arel ol dafaa 21 vegs fadi o 2303 %1 Ay Tbee 2 Uk I S 18 4 2

Sub questions

Question Number : 146 Question Id : 61547511204 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



AT % uitded § Freferfaa § 8 %14 od 2)
(1)  zf=n a8 swavoediy sz afove ) geefi afeen =m1 2
(2) 39 gl 1= At o o gl @ wedi @ foh uftonoesrey 3966l et darafa i ad £ 2@efl)

(3) Il 9l wwrataty = forn gl 21 el 2 iR 39 v 39l et Havaly ermdn sty @s o o
2rl|
(4)  wrEA BrelE E g 13 o waite wifdreed afeen s g d veen wum 9aE R w2y

Options:

1547543681, 1
E1547543882 2
61547542682 o
61547542684, 4

Question Number : 147 Question Id : 61547511205 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

el HeAfcfEa 9= g #91 #ed =rEd & A 5w & A w0 e L gy oEi i 20
(1) el 48 A Ui 4 3geva smania s 3 o)

(2) e 92 4 Fe gmies gl %1 TR S|

(3) el 8 FusiEat o e ) i o e T6 wE = 2)

(4)  Adcd & Ak F9d = ufronueasy dadi 52 1 g 9 A g enira e s g afae ferea § gan
BT
Options:
61547543685, 1
61547543686, 2

61547543687, 3
61547543688, 4

Question Number : 148 Question Id : 61547511206 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



sraTea Trdre wferg 4 ufien wmas fresres wifts fre o9 @1 =0 3g8vg 27

(1) e % dfvas wrge d gan
(2) = fog s f afeem gedi | s E)
(3)  Tor HaEa 1 FaTE0 TE |

(4)  HIefae afiada i smane g e

Options:
61547542659 1

E1547543630. 2
E15475436391. 3
6154754368382, 4

Question Number : 149 Question Id : 61547511207 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
fergferfiaa 4 4 Ferad Afiadi sfan 42 1 Fyfad 19 Hi7
(1)  srrrda fordre uftgg &€ (972 w1 s=ndaraet fareke wrafaer)
(2)  ufeye ) gemieg (S weufa are i)
(3)  =TE Hi Hi % vaad geEn wivw
(4) AT = i e
Options:
61547543693 1
61547543694 2

61547543635, 3
61547543636, 4

Question Number : 150 Question Id : 61547511208 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Teafeafiaa d # =9 mgary = vithes 4 |1 321 27

(1)  F1 OTF =1 v 30012 2

(2)  ofiwe 98 Ufrel = saeard & H=Ad 22 | A9 E1ed vE UFEiE] F1 Hded 2|

(3) ik ATl A = forg Ui waie 1 e Fda 2 |

(4) vl 32 1 wdEe A e =i Feees g B

Options:

61547543697, 1
61547543698, 2
61547543699 2
61547543700, 4



